SUPPORTING INFORMATION

Cyclopropenes in the 1,3-Dipolar Cycloaddition with

Carbonyl Ylides: an Experimental and Theoretical
Evidence for the Enhancement of o-Withdrawal in 3-

Substituted-Cyclopropenes

Vyacheslav V. Diev’, Rafael R. Kostikov', Rolf Gleiter * Alexander P. Molchanov*',

"Department of Chemistry, St. Petersburg State University, 198504 Universitetsky pr. 26, St.
Petersburg, Russian Federation. iOrganisch-Chemisehes Institut der Universitdt Heidelberg, Im

Neuenheimer Feld 270, D-69120 Heidelberg, Germany

AUTHOR EMAIL ADDRESS: s.lab@pobox.spbu.ru; Rolf.Gleiter@urz.oci.uni-heidelberg.de

* Author to whom correspondence should be addressed. St. Petersburg State University, Department of

Chemistry, 198504, Universitetsky pr. 26, St. Petersburg, Russian Federation.

S1



Contents

1. EXPerimental SECHION .............ooooiiiiiiiiiiiiiie ettt et et e st e e st e e eataeeentaaeensaeeennneeennns 3
2. General procedure for Kinetic competition experiments ..................ccccceeiiiiiienriiiie e 15
3. Photoelectron spectroSCOPIC data ..............oooviiiiiiiiiiiiiiiiieeceeeee ettt s aee e s e e 17
4. Copies of '"H NMR and “C NMR spectra of obtained compounds...................ccooeoiiiiiiiiiieeennee. 22
5. NOESY "H "H spectra of compounds 212, 21b and 23...............cccccooovvrromeeeeeeeeeeeeeeeesseeeesnns 34
6. Computational data................ooooiiiiiiiiii e e et e e e e taeeeaaee s 36
6.1. Evaluation of the S—T gap of model carbonyl ylides ...................cccoiiiiiiiiiiii e, 36
6.2. Evaluation of the biradical character of model carbonyl ylides.....................ccoccciiiiinininnnnn. 36

6.3. Atomic coordinates for the optimized structures of carbonyl ylides 9, 25, 26 and

cyclopropenes 3a—f, 27a—f (B3LYP/O031G™) .......ccoiiiiiiiiiiieeeeee ettt 37
6.4. Atomic coordinates for the optimized structures in the reaction paths...................................... 46
7. Calculated thermochemical data..................coociiiiiiiii e 57
8. NBO analysis data (B3LYP/O031G) ......ccc.ooooiiiieiieeiieeeeeee ettt et saae e aaeeeanaeenenee s 58
0. RET@IEIICES.........ooniiiiiiiiei ettt ettt e e bt e et e e ab e e bt e e e eat e e e eabteeeabeeesabbeesabaeesabaeenn 60

S2



1. Experimental section

General. Melting points are uncorrected. 'H NMR and >C NMR spectra were referenced to TMS in
CDCl; solutions (300 and 75 MHz respectively), and multiplicities of "*C signals were determined by
DEPT measurments. IR spectra were measured as 5% solutions in CHCl;. Anhydrous CH,Cl, was
obtained by distillation from CaH,. All operations in anhydrous CH,Cl, were performed under argon in
flame-dried glassware. Commercially available Rhy(OAc)s was used without further purification.
Starting materials were prepared according to literature data: 1-diazo-5-phenylpentane-2,5-dione 1,' 1-
(1-acetylcyclopropyl)-2-diazo- 1-ethanone 5,' methyl 2-(2-diazoacetyl)benzoate 8, methyl 4-diazo-2,2-
dimethyl-3-oxobutanecarboxylate 11 analogously to ethyl ester,’ methyl cis-2-diazoacetyl-3,3-
diphenylcyclopropanecarboxylate 12,° 1,2-diphenylcyclopropene 3a’ 3-methyl 1,2-
diphenylcyclopropene 3b.° 1,2-diphenyl-3-vinylcyclopropene 3e,” 1,2,3,-triphenylcyclopropene 3d,
methyl 2,3-diphenyl-2-cyclopropene-1-carboxylate 3e,” 2,3-diphenyl-2-cyclopropene-1-carbonitrile
31,'° 3,3-dimethylcyclopropene 13,''*® 3,3-diphenylcyclopropene 14, 3-methyl-3-phenylcyclopropene

19,10 methyl 1-methyl-2-cyclopropene-1-carboxylate 20. 12

Ph

Ph
4a

"

3 Ph

rac-(lR,ZR,4S,5S)-1,2,4-Triphenyl-9-0xatricyclo[3.3.1.02’4]n0nane-6-0ne (4a). Reaction of
diazocompound 1 (144 mg, 0.71 mmol) and cyclopropene 3a (175 mg, 1.02 mmol, 1.4 equiv.) in
CH,Cl; (5 mL) gave adduct 4a (201 mg, 0.60 mmol, 84%). R¢= 0.42 (hexane:EtOAc = 9:1). Mp. 198—
201 °C. IR 3070, 2965, 1740, 1600, 1500, 1445, 1265, 1135, 1080, 1040, 990, 920 cm '. '"H NMR
d1.16 (d, 1H, J=5 Hz), 2.09 (d, 1H, J = 5 Hz), 2.25 (ddd, 1H, J= 14, 11 and 8 Hz), 2.59 (dd, 1H, J=
16 and 8 Hz), 2.80 (dd, 1H, J= 14 and 9 Hz), 2.97 (ddd, 1H, J= 16, 11 and 9 Hz), 4.81 (s, 1H), 6.78—
6.87 (m, 2H), 7.03-7.41 (m, 13H). >C NMR & 23.3, 34.2, 34.5, 38.1, 45.5, 84.5, 85.5, 125.7, 126.6,
127.2, 127.8, 128.2, 128.3, 128.5, 128.6, 132.6, 134.2, 136.7, 140.3 and 206.4. Anal. Calcd for

Ca6H20,: C, 85.22; H, 6.05. Found: C, 85.18; H, 6.13.

S3



ullMe 4b
“Ph

rac-(1R,2R,3S,4S,5S)—3-Methyl-1,2,4-triphenyl-9-0xatricyclo[3.3.1.02’4] nonane-6-one (4b).
Reaction of diazocompound 1 (220 mg, 1.09 mmol) and cyclopropene 3b (300 mg, 1.46 mmol, 1.3
equiv.) in CH,Cl, (5§ mL) gave adduct 4b (345 mg, 0.91 mmol, 83%). Ry= 0.38 (hexane:EtOAc = 9:1).
Mp. 126-128 °C. IR 3050, 2960, 2930, 2870, 1740, 1600, 1500, 1445, 1265, 1075, 1030 cm ™. '"H NMR
5 0.75(d, 3H,J=6 Hz), 2.13 (q, IH, J= 6 Hz), 2.19 (ddd, 1H, J= 13, 9 and 8 Hz), 2.50 (dd, 1H, J=17
and 8 Hz), 2.78 (dd, 1H, J= 13 and 9 Hz), 2.93 (dt, 1H, J = 17 and 9 Hz), 4.81 (s, 1H), 6.90-7.42 (m,
15H).). °C NMR & 11.2, 21.4, 33.9, 34.2, 42.1, 46.4, 85.6, 86.1, 126.0, 126.9, 127.8, 128.0, 128.1,
128.2, 128.3, 129.8, 131.9, 133.9, 134.0, 140.2 and 205.8. Anal. Calcd for C,7H»40,: C, 85.23; H, 6.36.

Found: C, 85.44; H, 6.89.

Ph

\\Ph
'-Hl// 4c

“Ph

(0]

rac-(lR,ZR,3S,4S,5S)—1,2,4-Triphenyl-3-vinyl-9-0xatricyclo[3.3.1.02’4]n0nane-6-0ne (4¢). Reaction
of diazocompound 1 (228 mg, 1.13 mmol) and cyclopropene 3¢ (320 mg, 1.47 mmol, 1.3 equiv.) in
CH,Cl; (5 mL) gave adduct 4¢ (312 mg, 0.80 mmol, 71%). R¢= 0.36 (hexane:EtOAc = 9:1). Mp. 134—
136 °C. IR 3065, 2965, 1740, 1600, 1500, 1445, 1140, 1080, 1060 and 915 915 cm™'. '"H NMR § 2.24
(ddd, 1H, J= 14,9 and 8 Hz), 2.59 (dd, 1H, J= 17 and 8 Hz), 2.79 (d, 1H, J= 10 Hz), 2.86 (dd, 1H, J =
14 and 9 Hz), 3.03 (dt, 1H, J= 17 and 9 Hz), 4.79 (s, 1H), 4.88 (dd, 1H, J= 10 and 2 Hz), 5.03 (dt, 1H,
J =17 and 10 Hz), 5.18 (dd, 1H, J = 17 and 2 Hz), 6.95-7.02 (m, 2H), 7.08-7.11 (m, 2H), 7.18-7.40
(m, 11H). >C NMR & 31.8, 33.4, 34.2, 43.6, 46.8, 86.0, 86.4, 117.0, 125.8, 127.4, 127.9, 128.1, 128.2,
128.6, 130.1, 131.8, 133.3, 134.0, 134.3, 139.9 and 205.0. Anal. Calcd for C;3H»40,: C, 85.68; H, 6.16.

Found: C, 85.84; H, 6.12.

S4



«uph  4d
Ph

rac-(lR,ZR,3S,4S,5S)—1,2,3,4-Tetraphenyl-9-0xatricyclo[3.3.1.02’4]n0nane-6-0ne (4d). Reaction of
diazocompound 1 (99 mg, 0.49 mmol) and cyclopropene 3d (168 mg, 0.63 mmol, 1.3 equiv.) in CH,Cl,
(5 mL) gave adduct 4d (147 mg, 0.33 mmol, 68%). R¢= 0.27 (hexane:EtOAc = 9:1). Mp. 174-177 °C.
IR 3090, 3070, 3040, 2960, 2940, 2880, 2860, 1720, 1600, 1500, 1450, 1420, 1350, 1310, 1240, 1180,
1140, 1080, 1060, 1040, 1020, 980, 940 and 920 cm™'. "H NMR § 2.26-2.37 (m, 1H), 2.70-2.79 (m,
1H), 2.94-3.02 (m, 1H), 3.23-3.35 (m, 2H), 4.58 (s, 1H), 6.23-6.26 (m, 2H), 6.77-7.33 (m, 18H). *C
NMR 6 31.3,32.4,34.1,46.3, 48.6, 87.1, 88.3, 125.7, 126.0, 127.0, 127.96, 128.04, 128.1, 128.8, 129.4,
130.9, 131.0, 131.6, 131.8, 134.5, 135.8, 140.1 and 204.9. Anal. Calcd for Cs,H»60,: C, 86.85; H, 5.92.
Found: C, 86.55; H, 6.27.

Me

Ph
wpp T
O E

Ph
rac-(1R,2R,3S,4S,5S)-1-Methyl-2,3,4-triphenyl-7,7-ethan0-8-0xatricyclo[3.2.1.02’4]0ctane-6-0ne
(7). Reaction of diazocompound 5 (193 mg, 1.27 mmol) and cyclopropene 3d (408 mg, 1.52 mmol, 1.2
equiv.) in CH,Cl, (5 mL) gave adduct 7 (357 mg, 0.91 mmol, 72%). R¢= 0.44 (hexane:EtOAc = 9:1).
Mp. 163-164 °C. IR 970, 1035, 1045, 1095, 1150, 1340, 1395, 1450, 1620, 1770 o.c, 2990, 3030, 3050
cm . 'TH NMR § 0.67 (ddd, 1H, J = 10.0, 7.5 and 5.0 Hz), 0.86-0.98 (m, 2H), 1.22 (s, 3H), 1.54 (ddd,
1H, J=10.0, 7.0 and 5.0 Hz), 3.59 (s, 1H), 4.48 (s, 1H), 6.36 (d, 2H, J = 7.5 Hz), 6.88 (t, 2H, J = 7.5
Hz), 6.98 (t, 1H, J = 7.5 Hz), 7.09-7.18 (m, 10H). °C NMR & 11.6, 12.9, 14.4, 29.2, 37.5, 41.5, 48.9,
85.5,87.9, 125.8, 127.1, 127.6, 127.7, 128.0, 128.4, 131.3, 131.4, 132.1, 132.9, 133.9, 136.3 and 210.4.

Anal. Calcd for CosH»40,: C, 85.68; H, 6.16. Found: C, 85.86; H, 6.19.

S5



rac-(1R,9S,10R,125)-1-Methoxy-10,12-diphenyl-13-oxatetracyclo[7.3.1.0%".0'""*|trideca-2,4,6-
triene-8-one (10a). Reaction of diazocompound 8 (107 mg, 0.52 mmol) and cyclopropene 3a (119 mg,
0.62 mmol, 1.2 equiv.) in CH,Cl, (3 mL) gave adduct 10a (177 mg, 0.47 mmol, 92%). Ry = 0.45
(hexane:EtOAc = 9:1). Mp. 158-159 °C. IR 3050, 3020, 2950, 1730, 1600, 1505, 1450, 1295, 1260,
1170, 1105, 1050, 1040 and 965 cm™'. '"H NMR & 1.71 (d, 1H. J = 4.7 Hz), 2.69 (d, 1H, J = 4.7 Hz),
3.61 (s, 3H), 4.91 (s, 1H), 6.64 (d, 2H, J = 8.0 Hz), 6.93-7.15 (m, 9H), 7.46 (dd, 1H, J= 7.5 and 7.3
Hz), 7.53 (dd, 1H, J= 7.5 and 7.3 Hz), 8.15 (d, 1H, J= 7.3 Hz). "C NMR § 25.9, 37.6, 46.7, 53.2, 84.9,
107.9, 126.4, 127.3, 127.7, 127.8, 127.9, 128.4, 129.6, 129.6, 130.7, 132.1, 133.4, 133.7, 135.1, 144.0

and 194.5. Anal. Calcd for C,sH»005: C, 81.50; H, 5.47. Found: C, 81.46; H, 5.47.

rac-(1R,98,10R,115,125)-1-Methoxy-11-methyl-10,12-diphenyl-13-
oxatetracyclo[7.3.1.02’7.010’12]trideca-2,4,6-triene-8-0ne (10b). Reaction of diazocompound 8 (224
mg, 1.09 mmol) and cyclopropene 3b (275 mg, 1.34 mmol, 1.2 equiv.) in CH,Cl, (5 mL) gave adduct
10b (316 mg, 0.83 mmol, 76%). R¢= 0.46 (hexane:EtOAc = 9:1). Mp. 174-177 °C. IR 3040, 3025,
2955, 1730, 1620, 1450, 1300, 1260, 1200, 1170, 1080, 1065, 1030, 1005 cm™'. "H NMR & 0.98 (d, 3H,
J=6.5Hz), 2.74 (q, 1H, J= 6.5 Hz), 3.59 (s, 3H), 4.91 (s, 1H), 6.76-6.82 (m, 3H), 7.05-7.23 (m, 8H),
7.35-7.40 (m, 1H), 7.43-7.49 (m, 1H), 8.07 (d, 1H, J= 8.0 Hz). *C NMR § 12.8, 26.3, 40.9, 49.2, 53.2,
85.8, 108.4, 126.1, 127.3, 127.55, 127.59, 127.7, 128.3, 129.2, 129.4, 130.8, 131.1, 131.8, 132.6, 133.1,

144.2 and 194.1. Anal. Calcd for CosH»,03: C, 81.65; H, 5.80. Found: C, 81.55; H, 5.83.

S6



rac-(1R,9S,10R,11S,12S)-1-Methoxy-11-vinyl-10,12-diphenyl-13-

oxatetracyclo [7.3.1.0%7.0'"12

|trideca-2,4,6-triene-8-one (10c). Reaction of diazocompound 8 (231 mg,
1.12 mmol) and cyclopropene 3¢ (296 mg, 1.36 mmol, 1.2 equiv.) in CH,Cl, (5 mL) gave adduct 10¢
(308 mg, 0.78 mmol, 70%). R¢= 0.45 (hexane:EtOAc =9 : 1). Mp. 160-164 °C. IR 3040, 3030, 2860,
1730, 1600, 1500, 1450, 1295, 1260, 1170, 1165, 1100, 1080, 1060, 1035, 1020, 1000, 980, 930 cm .
'H NMR § 3.42 (d, 1H, J = 9.0 Hz), 3.63 (s, 3H), 4.85 (s, 1H), 5.07 (dd, 2H, J = 9.0 and 3.3 Hz), 5.42—
5.49 (m, 1H), 6.78 (d, 2H, J = 7.3 Hz), 6.89 (d, 1H, J = 7.3 Hz), 7.09-7.22 (m, 8H), 7.44 (t, IH, J=7.6
Hz), 7.54 (t, 1H, J = 7.3 Hz), 8.16 (d, 1H, J = 8.0 Hz). *C NMR & 35.9, 42.1, 49.8, 53.2, 86.3, 108.5,
116.2, 126.3, 127.6, 127.7, 127.8, 128.5, 129.5, 130.9, 131.6, 131.7, 131.9, 133.2, 133.3, 135.8, 143.8

and 193.5. Anal. Calcd for C,7H»,05: C, 82,21; H, 5.67. Found: C, 81.82; H, 5.67.

rac-(1R,98,10R,115,12S5)-1-Methoxy-10,1 1,12-triphenyl-13-0xatetracyclo[7.3.1.02’7.010’12]trideca-
2,4,6-triene-8-one (10d). Reaction of diazocompound 8 (287 mg, 1.39 mmol) and cyclopropene 3d
(448 mg, 1.67 mmol, 1.2 equiv.) in CH,Cl, (5 mL) gave adduct 10d (418 mg, 0.94 mmol, 67%). R¢=
0.41 (hexane:EtOAc = 9:1). Mp. 242-245 °C. IR 3060, 3045, 3015, 2950, 1730, 1500, 1450, 1295,
1260, 1180, 1170, 1090, 1050, 1030, 965, 950 cm™'. "H NMR & 3.65 (s, 3H), 3.86 (s, 1H), 4.80 (s, 1H),
6.37 (d, 2H, J= 7.3 Hz), 6.57 (d, 2H, J = 7.3 Hz), 6.82-6.90 (m, 5H), 6.97-7.04 (m, 3H), 7.10-7.16 (m,
4H), 7.46 (t, 1H, J=7.3 Hz), 7.58 (t, 1H, J= 7.3 Hz), 8.21 (d, 1H, J = 7.3 Hz). *C NMR & 35.8, 44.3,
51.8, 53.3, 87.8, 109.1, 126.1, 126.4, 127.1, 127.6, 127.7, 128.1, 128.5, 128.8, 129.6, 130.4, 130.5,
131.2, 131.3, 132.7, 133.3, 133.7, 136.0, 143.9 and 193.4. Anal. Calcd for C3;H»405: C, 83.76; H, 5.44.

Found: C, 83.68; H, 5.67.
S7



“1COMe  10e

Methyl rac-(1R,95,10R,11S,12S)-1-methoxy-8-0x0-10,12-diphenyl-13-

oxatetracyclo[7.3.1.02’7.010’12]trideca-2,4,6-triene-1 1-carboxylate (10e).

Reaction of diazocompound 8 (312 mg, 1.52 mmol) and cyclopropene 3e (454 mg, 1.82 mmol, 1.2
equiv.) in CH,Cl, (5 mL) gave adduct 10e (33 mg, 0.08 mmol, 5%). R¢= 0.24 (hexane:EtOAc = 9:1).
Mp. 175181 °C. IR 3050, 2950, 1750, 1730, 1580, 1500, 1440, 1350, 1295, 1265, 1180, 1080, 1070,
1050, 1020, 960 cm™'. "H NMR & 3.42 (s, 3H), 3.56 (s, 1H), 3.57 (s, 3H), 4.89 (s, 1H), 6.76-6.80 (m,
3H), 7.09-7.21 (m, 8H), 7.42 (t, 1H, J = 7.3 Hz), 7.53 (t, 1H, J = 7.3 Hz), 8.12 (d, 1H, J = 8.0 Hz). °C
NMR 6 33.4,44.4,51.9, 51.9, 53.4, 86.6, 108.7, 126.4, 127.5, 127.8, 128.0, 128.2, 128.3, 129.8, 130.5,
130.8, 130.8, 132.1, 133.3, 142.7, 168.6 and 192.5. Anal. Calcd for C,7H2,0s: C, 76.04; H, 5.20. Found:

C, 76.00; H, 5.29.

rac-(lR,ZR,4S,5R)-3,3-Dimethyl-1-phenyl-9-0xatricyclo[3.3.1.02’4]n0nane-6-0ne (15). Reaction of
diazocompound 1 (227 mg, 1.12 mmol) and cyclopropene 13 (230 mg, 3.37 mmol, 3 equiv.) in CH,Cl,
(5 mL) gave adduct 15 (168 mg, 0.77 mmol, 68%). Ry = 0.38 (hexane:EtOAc = 9:1). Mp. 59 °C. IR
3035, 2965, 2935, 2880, 1745, 1460, 1380, 1130, 1065, 1045, 1020 cm ™. "H NMR & 0.97 (s, 3H), 1.12
(s, 3H), 1.46 (d, 1H, J= 6.7 Hz), 1.84 (d, 1H, J = 6.7 Hz), 2.21-2.26 (m, 2H), 2.40-2.48 (m, 1H), 2.73—
2.86 (m, 1H), 4.28 (s, 1H), 7.28—7.7.35 (m, 3H), 7.49-7.54 (m, 2H). °C NMR & 15.2, 21.8, 27.8, 30.8,
33.1, 34.5, 40.8, 82.0, 84.1, 126.0, 127.7, 128.5, 142.9 and 206.2. Anal. Calcd for CcH;30,: C, 79.31;
H, 7.49. Found: C, 79.27; H, 7.56. When using 5 equiv. of cyclopropene 13 the product 15 yield

increased to 80%.

S8



rac-(1R,2S,4R,SS)-1,3,3-Trimethyl—7,7-ethano-8-oxatricyclo[3.2.1.02’4]octane-6-0ne (16). Reaction
of diazocompound 5 (227 mg, 1.12 mmol) and cyclopropene 13 (230 mg, 3.37 mmol, 3 equiv.) in
CH,Cl; (5 mL) gave adduct 16 (168 mg, 0.77 mmol, 68%). Ry= 0.56 (hexane:EtOAc =9:1). Mp. 4648
°C. IR 3030, 2960, 2940, 2880, 1760, 1450, 1390, 1375, 1340, 1330, 1270, 1150, 1145, 1130, 1070,
1040, 1005, 990 cm . "H NMR & 0.73-0.81 (m, 1H), 0.83-0.92 (m, 1H), 1.00-1.09 (m, 2H), 1.03 (s,
3H), 1.05 (d, 1H, J = 6.8 Hz), 1.20 (d, 1H, J = 6.8 Hz), 1.23 (s, 3H), 1.43 (s, 3H), 4.42 (s, 1H). °C
NMR 6 9.8, 12.0, 15.7, 17.0, 24.4, 26.3, 28.1, 35.0, 38.8, 80.0, 84.2 and 211.5. Anal. Calcd for
CoH1602: C, 74.97; H, 8.39. Found: C, 74.86; H, 8.39. When using 5 equiv. of cyclopropene 13 the

product 16 yield increased to 85%.

rac-(1R,9S,10R,12S)-1-Methoxy-11,11-dimethyl-13-oxatetracyclo[7.3.1.0>".0'""*]trideca-2,4,6-
triene-8-one (17). Reaction of diazocompound 8 (249 mg, 1.21 mmol) and cyclopropene 13 (250 mg,
3.62 mmol, 3 equiv.) in CH,Cl, (5 mL) gave adduct 17 (148 mg, 0.60 mmol, 50%). Rf = 0.51
(hexane:EtOAc = 9:1). Oil. IR 3050, 3030, 2970, 2880, 1730, 1605, 1460, 1380, 1330, 1295, 1255,
1175, 1165, 1090, 1070, 1050, 1030, 995, 965, 960 cm . "H NMR & 1.09 (s, 3H), 1.35 (d, 1H, J = 6.8
Hz), 1.55 (d, 1H, J = 6.8 Hz), 1.57 (s, 3H), 3.50 (s, 3H), 4.67 (s, 1H), 7.45-7.49 (m, 2H), 7.61 (t, 1H, J
= 7.2 Hz), 8.07 (d, 1H, J = 8.4 Hz). °C NMR § 16.1, 27.7, 30.4, 30.6, 38.5, 53.8, 81.3, 107.5, 123.0,
128.2, 129.0, 131.3, 133.8, 146.0 and 194.4. Anal. Calcd for C;sHi605: C, 73.75; H, 6.60. Found: C,
73.83; H, 6.56.

When using 5 equiv. of cyclopropene 13 the product 17 yield increased to 81%. In addition the

product of 2:1 composition was isolated in ca. 2% yield:

S9



mc-(l’R,9’S,10’R,12’S)-spiro[l-methoxy-l1,12-di0xatricyclo[7.2.1.02’7]dodeca-2,4,6-triene-6-
0ne-10,8’-11’,11’-dimethyl-l’-methoxy-l3’-oxatetracyclo[7.3.1.02’7.010’12]trideca-2’,4’,6’-triene-8’-
one. Amorphous product. Ry= 0.35 (hexane:EtOAc = 9:1). "H NMR & 1.04 (s, 3H), 1.28 (d, 1H, J=6.9
Hz), 1.53 (s, 3H), 1.62 (d, 1H, J= 6.9 Hz), 3.54 (s, 3H), 3.80 (s, 3H), 4.57 (s, IH), 5.16 (s, 1H), 6.29 (d,
1H, J = 8.0 Hz), 6.93 (t, 1H, J= 7.6 Hz), 7.18 (t, 1H, J = 7.6 Hz), 7.25-7.28 (m, 1H), 7.59 (t, IH, J =
7.3 Hz), 7.71-7.81 (m, 2H), 7.99 (d, 1H, J = 8.0 Hz). °C NMR § 15.9, 23.9, 26.8, 27.3, 38.9, 50.3, 54.0,
79.1, 81.5, 88.6, 108.3, 122.4, 123.3, 126.5, 128.1, 128.6, 129.8, 130.2, 130.9, 131.9, 134.9, 142.1 and

191.8.

rac-(1R,2R,4S,5R)-1,3,3-Triphenyl-9-oxatricyclo[3.3.1.0>*|nonane-6-one  (18). Reaction of
diazocompound 1 (60 mg, 0.30 mmol) and cyclopropene 14 (172 mg, 0.90 mmol, 3 equiv.) in CH,Cl,
(2 mL) gave adduct 18 (63 mg, 0.17 mmol, 58%). R¢= 0.23 (hexane:EtOAc = 9:1). Mp. 75-78 °C. IR
3065, 3045, 2960, 2940, 1745, 1605, 1500, 1450, 1050, 930 cm™". '"H NMR § 2.16-2.25 (m, 1H), 2.39
(d, 1H, J= 7.6 Hz), 2.40-2.52 (m, 2H), 2.77-2.88 (m, 1H), 2.87 (d, 1H, J = 7.6 Hz), 4.54 (s, 1H), 6.72
(d, 2H, J=6.8 Hz), 6.94 (d, 2H, J= 7.0 Hz), 7.02 (d, 1H, J = 6.8 Hz), 7.13-7.16 (m, 1H), 7.24-7.33 (m,
9H). "C NMR & 31.9, 34.4, 36.4, 39.4, 40.9, 81.4, 83.5, 125.3, 126.4, 126.9, 127.5, 127.9, 128.1, 128.8,
129.0, 129.5, 138.0, 142.7, 145.5 and 206.2. Anal. Calcd for CycH2,0,: C, 85.22; H, 6.05. Found: C,

84.72; H, 6.05.

S10



rac-(1R,2R,3R,4S,5R)-3-Methyl-1,3-diphenyl-9-0xatricyclo[3.3.1.02’4]nonane-6-0ne (21a) and rac-
(1R,2R,3S,4S,5R)-3-methyl-l,3-diphenyl-9—0xatricyclo[3.3.1.02’4]nonane-6-0ne (21b). Reaction of
diazocompound 1 (288 mg, 1.43 mmol) and cyclopropene 19 (556 mg, 4.28 mmol, 3 equiv.) in CH,Cl,
(2 mL) gave isomeric adducts 21a (201 mg, 0.66 mmol, 48%) and 21b (73 mg, 0.24 mmol, 17%).
Compound 21a: amorphous product. R¢= 0.30 (hexane:EtOAc = 9:1). IR 3040, 2965, 2935, 1745, 1500,
1450, 1110, 1080, 1050, 925 cm . "H NMR & 1.26 (s, 3H), 2.04 (d, 1H, J = 7.6 Hz), 2.32-2.38 (m, 2H),
2.37 (d, 1H, J= 7.6 Hz), 2.44-2.53 (m, 1H), 2.72-2.84 (m, 1H), 4.51 (s, 1H), 7.22-7.7.39 (m, 6H), 7.45
(t, 2H, J = 7.6 Hz), 7.64 (d, 2H, J = 7.6 Hz). >C NMR & 16.7, 29.9, 31.6, 32.6, 34.5, 40.9, 82.1, 84.5,
125.8, 126.9, 127.9, 128.2, 128.8, 129.1, 142.8, 147.4 and 205.7. Anal. Calcd for C,;H»0O,: C, 82.87;
H, 6.62. Found: C, 82.86; H, 6.81. Compund 21b: amorphous product. R¢= 0.26 (hexane:EtOAc = 9:1).
IR 3040, 3020, 2970, 2935, 1745, 1605, 1450, 1355, 1270, 1080, 1040 cm™'. '"H NMR & 1.32 (s, 3H),
1.88 (d, 1H, J= 6.3 Hz), 2.05-2.20 (m, 1H), 2.32 (d, 1H, J = 6.3 Hz), 2.35-2.47 (m, 2H), 2.77-2.89 (m,
1H), 4.36 (s, 1H), 6.60 (d, 2H, J = 6.7 Hz), 6.93—6.98 (m, 2H), 7.03—7.08 (m, 1H), 7.16-7.19 (m, 2H),
7.27-7.32 (m, 3H). °C NMR § 29.5, 30.7, 31.4, 34.3, 36.1, 40.8, 81.1, 83.0, 125.5, 126.1, 127.3, 127.9,
128.2, 128.7, 139.9, 142.8 and 206.8. Anal. Calcd for C,;H»004: C, 82.87; H, 6.62. Found: C, 82.86; H,

6.62.

rac-(1R,9S,10R,11S,125)-1-Methoxy-11-methyl-11-phenyl-13-

10,12
.0

oxatetracyclo[7.3.1.02’7 |trideca-2,4,6-triene-8-one (22a) and rac-(1R,95,10R,11R,12S5)-1-

methoxy-11-methyl-11-phenyl-13-oxatetracyclo[7.3.1.0>".0'“'*|trideca-2,4,6-triene-8-one (22a).
Reaction of diazocompound 8 (288 mg, 1.40 mmol) and cyclopropene 19 (548 mg, 4.22 mmol, 3

S11



equiv.) in CH,Cl, (2 mL) gave isomeric adducts 22a (189 mg, 0.62 mmol, 44%) and 22b (ca. 70%
purity, 18 mg, 0.05 mmol, 4%). Compound 22a: Ry= 0.41 (hexane:EtOAc = 9:1). Mp. 91-93 °C. IR
3030, 2975, 2960, 1730, 1610, 1450, 1330, 1295, 1260, 1180, 1105, 1070, 1050, 1040, 1015, 970 cm "
'H NMR & 1.87 (s, 3H), 1.89 (d, 1H, J = 7.6 Hz), 2.03 (d, 1H, J = 7.6 Hz), 3.60 (s, 3H), 4.89 (s, 1H),
7.16-7.21 (m, 1H), 7.24-7.27 (m, 4H), 7.45-7.55 (m, 2H), 7.62 (t, 1H, J= 7.6 Hz), 8.07 (d, IH, J=7.6
Hz). °C NMR § 17.7, 29.4, 37.7, 39.9, 53.9, 81.4, 107.9, 123.1, 126.5, 126.9, 128.0, 128.2, 128.4,
128.9, 129.1, 131.3, 133.9, 145.9, 146.0 and 194.2. Anal. Calcd for Cy0H;30s: C, 78.41; H, 5.92. Found:
C, 78.61; H, 6.05. Compound 22b: amorphous product. Ry = 0.28 (hexane:EtOAc = 9:1). '"H NMR
5 1.73 (d, 1H, J="7.3 Hz), 1.84 (s, 3H), 2.20 (d, 1H, J= 7.3 Hz), 3.64 (s, 3H), 4.78 (s, 1H), 6.30 (d, 1H,
J=28.0 Hz), 6.90-6.98 (m, 1H), 7.15-7.32 (m, 3H), 7.60 (t, 1H, J= 7.3 Hz), 7.74-7.85 (m, 2H), 8.01 (d,
1H, J=18.0 Hz). "C NMR & 17.1, 25.9, 33.4, 49.5, 54.1, 79.2, 108.6, 119.8, 123.3, 128.0, 130.2, 135.0,

141.9, 143.1 and 194.0.

23
,COZMe
H

Ph

Methyl rac-(1R,2R,3R,4S,5R)-3-methyl—6-0x0-1-phenyl-9-0xatricyclo[3.3.1.02’4]n0nane-3-
carboxylate (23). Reaction of diazocompound 1 (133 mg, 0.66 mmol) and cyclopropene 20 (221 mg,
1.98 mmol, 3 equiv.) in CH,Cl, (3 mL) gave adduct 23 (22 mg, 0.08 mmol, 12%). Ry = 0.17
(hexane:EtOAc = 9:1). Mp. 116-118 °C. IR 3050, 2965, 2940, 1740, 1455, 1440, 1305, 1275, 1265,
1150, 1055 cm™. "H NMR & 1.19 (s, 3H), 2.23 (d, 1H, J = 6.8 Hz), 2.31-2.36 (m, 2H), 2.35 (d, 1H, J =
6.8 Hz), 2.47-2.55 (m, 1H), 2.63 (d, 1H, J = 6.8 Hz), 2.82-2.94 (m, 1H), 3.72 (s, 3H), 4.34 (s, 1H),
7.28-7.40 (m, 3H), 7.47 (d, 2H, J = 7.6 Hz). °C NMR & 9.2, 28.1, 31.5, 33.6, 34.5, 40.5, 52.9, 81.4,
84.5,125.7, 128.0, 128.7, 141.5, 174.1 and 204.3. Anal. Calcd for C7H;304: C, 71.31; H, 6.34. Found:
C, 71.26; H, 6.37.

When using 5 equiv. of cyclopropene 20 the product 23 yield increased to 36%. In addition the
product of 2:1 composition was isolated in ca. 4% yield as a mixture of two diasteromers:

S12



methyl rac-(1’R,2’S,3’R,4’R,5’S)-spiro[5-phenyl-6,8-dioxabicyclo[3.2.1]octane-2-one-7,6"-3’-
methyl-1°-phenyl-9’-oxatricyclo[3.3.1.0>*Inonane]-3’-carboxylate. For one diastereomer: R = 0.12
(hexane:EtOAc = 9:1). "H NMR & 1.09 (s, 3H), 1.28 (dd, 1H, J = 7.3 and 7.3 Hz), 1.6 (m, 2H), 1.80-
1.97 (m, 2H), 2.33-2.43 (m, 4H), 2.62-2.70 (m, 3H), 3.69 (s, 3H), 4.04 (s, 1H), 4.95 (s, 1H), 7.28-7.46
(m, 8H), 7.63 (d, 2H, J = 7.7 Hz). °C NMR § 9.2, 25.4, 26.4, 29.5, 33.2, 34.0, 36.3, 38.3, 52.7, 77.2,

81.4,84.3,84.9,108.7,125.2, 125.8, 127.8, 128.5, 128.8, 129.0, 140.7, 141.9, 175.2 and 205.4.

Methyl rac-(1R,9S,10R,11S8,125)-1-methoxy-11-methyl-8-0x0-13-
oxatetracyclo[7.3.1.02’7.010’12]trideca-2,4,6-triene-1 1-carboxylate (24).
Reaction of diazocompound 8 (178 mg, 0.86 mmol) and cyclopropene 20 (290 mg, 2.59 mmol, 3
equiv.) in CH,Cl, (5 mL) gave adduct 24 (40 mg, 0.14 mmol, 16%). R¢= 0.23 (hexane:EtOAc =9:1). IR
3045, 3030, 2960, 1735, 1610, 1460, 1440, 1330, 1295, 1270, 1185, 1140, 1105, 1060, 1020, 970, 950
cm . '"H NMR 8 1.79 (s, 3H), 2.09 (d, 1H, J= 7.3 Hz), 2.32 (d, IH, J = 7.3 Hz), 3.50 (s, 3H), 3.66 (s,
3H), 4.74 (s, 1H), 7.47-7.54 (m, 2H), 7.64 (t, 1H, J = 7.3 Hz), 8.08 (d, 1H, J = 7.3 Hz). *C NMR §
10.1, 30.5, 35.3, 38.3, 52.8, 53.8, 81.1, 107.5, 123.1, 128.4, 129.5, 131.2, 134.0, 144.8, 173.2 and 193.0.
Anal. Calcd for Ci6H605: C, 66.66; H, 5.59. Found: C, 66.54; H, 5.72.

In addition the product of 2:1 composition was isolated in ca. 2% yield (70% purity):

S13



methyl rac-(1’R,9°S,10°R,11°S,12°S)-spiro[1-methoxy-11,12-dioxatricyclo[7.2.1.0*"|dodeca-2,4,6-
triene-6-one-10,8’-11’-methyl-l’-methoxy-S’-0x0-13’-oxatetracyclo[7.3.1.02’7.010’12]trideca-Z’,4’,6’-
triene]-11°-carboxylate. Ry= 0.18 (hexane:EtOAc = 9:1). "H NMR & 1.59 (s, 3H), 2.07 (d, 1H, J= 7.6
Hz), 2.33 (d, 1H, J = 7.6 Hz), 3.54 (s, 3H), 3.62 (s, 3H), 3.78 (s, 3H), 4.64 (s, 1H), 5.16 (s, 1H), 6.8—

8.04 (m, SH).

S14



2. General procedure for Kinetic competition experiments
The mixture of cyclopropene 3X (X = Me, H, vinyl, CO,Me) and standard 1,2,3-
triphenylcyclopropene 3d (3.3 equiv. of each) with the corresponding diazocarbonyl compound 1 or 8
was subjected to Rhy(OAc)s-catalized conditions at 20+£3 °C. The product ratio have been determined
by integration of clear distinct singlets for the protons Hs for adducts 4 or Hy for adducts 10 (Scheme
S1, Table S1) at bridgehead carbon atoms of tetrahydrofurane ring in 'H NMR spectra of the crude

reaction mixture.

Scheme S1. Cycloaddition reactions of the carbonyl ylides 2 and 9 with 1,2-diphenylcyclopropenes 3

used for kinetic measurements.

O
0O+
___________ Ph
\ 2
H R |
P’ Ph!
e ____._ ] O
3 _
I/O+
OMe
9

Table S1. Ratio of cycloadducts 4 and 10.”

R 4a-c:4d  10a-c,e:10d or value®
Me 2.39 2.94 0.00
H 2.44 3.03 0.00
CH,=CH 1.56 1.79 0.06
Ph° - = 0.10
CO,Me - 0.18 0.24

a b
Ratio determined from the average of 3 kinetic experiments. Cyclopropene 3d used as standard compound.

S15



Table S2. Normalized ratio of cycloadducts 4.

S Sm

cyclopropene (R),
yelopropene (R) kr/ku  (standard deviation)  (standard error)

[d Hs, ppm]
3a (R =H) [4.81] 1.00 0.11 0.20
3b (R = Me) [4.81] 0.98 0.10 0.19
3¢ (R = vinyl) [4.79] 0.64 0.07 0.12
3d (R = Ph) [4.58] 0.41 - -

Table S3. Normalized ratio of cycloadducts 10.

cyclopropene (R), Ke/kn s Sm
[& Ho, ppm] (standard deviation)  (standard error)
3a(R=H)[4.91] 1.00 0.05 0.09
3b (R =Me) [4.91] 0.97 0.06 0.12
3¢ (R = vinyl) [4.85] 0.59 0.09 0.17
3d (R =Ph) [4.80] 0.33 - -
3e (R=CO,Me) [4.89] 0.06 0.007 0.014

In correlation study the ratio of cycloadducts thus obtained were then normalized to 1,2-
diphenylcyclopropene 3a (Tables S2 and S3). Calculated standard error in rate determination by 'H

NMR spectroscopy is about 20-25%. After trying different c-constants, the best correlation was found

with of constants proposed by Taft to evaluate substituent inductive/field effect in X—CH,—Y systems."

S16



3. Photoelectron spectroscopic data

Table S4. PE spectroscopic data of 3-substituted cyclopropenes 3a—f, values of the corresponding SCF

orbital energes obtained from HF/6-31G* calculations and the assignments of bands in PE spectra.

IE, eV

-, eV

assignment

IE, eV

-, eV

assignment
IE, eV 7.67
-gi, eV 7,60

assignment T

1.2-diphenvlcyclopropene 3a:

7.7 9.3 9.4 9.7 10.3  10.6

7,48 9,17 9,19 9,56 10,94 11,13

T T T3 T4 5 (OFN

3-methyl-1,2-diphenylcyclopropene 3b:

744 9.04 9.12 94 10.25 10.85
746 9,16 9,18 9,54 10,88* 10,66
T %) T3 T4 s WA

a
calculated SCF-orbital energy of 75 is lower than that of ®A

1.2-diphenyl-3-vinylcyclopropene 3¢:

8,7 9,20 9,55 10,2

12,70

(O

12,41

(O

8,98 9,20 9,22 9,62 11,06 12,24 12,66

Tlvinyl %] T3 T4 s WA

a
bands of m2 and 73 are overlapped

(O

S17



IE, eV 7.9

-, eV 7,61

assignment T

IE, eV 8,1

-gj, eV 7,78

assignment T

IE, eV

-g, eV

assignment

1.2.3 -triphenylcyclopropene 3d:

8,2 8,4 930 940 9,65 104
823 882 920 922 9,63 11,04 11,59

TS-Ph TUA-Ph 1% T3 T4 s WA

methyl 2.3-diphenyl-2-cyclopropene-1-carboxylate 3e:

9,5 IR 10.9 11,7

9,27 9,28* 9,68 11,14 113" 12,06 12,37

5+, nyt+ 2n,+
%) T3 T4 wat+ Ny
+TCC:0 Tle=c TTMeO
a
overlapped

2.3-diphenyl-2-cyclopropene-1-carbonitrile 3f:

8,5 9,65 9,75 10,1 11,1 11,45 12,45

812 950 951 994 11,09 11,79 12,20

19| (1%) 3 4 ™A s ®stTeN

-€.=(2.71£0.73) + (0.63 £ 0.09)*IP
ga eV !

8.1 r=0.960
8,04
7,9
7,8
7,74
7,6

7,5

7.4

74 76 78 80 82 84 86lPev

12,52

(O

13,04

®s

Figure S1. Correlation of IE; values of 3 with their HOMO energies calculated at HF/6-31G* level.

S18



g, =-7,48 ¢V

HOMO-3, T3, €3= —9,19 eV HOMO-4, Ty, €4= —9,56 eV

HOMO-5, nt5, €5=-10,94 eV HOMO-6, wy, g6=-11,13 eV

i
HOMO-7, ws, €,=-12.70 eV HOMO-16, n-c=c+T-cH2, €16=-16.35¢V

Figure S2. Representative view of several highest occupied molecular orbitals (HOMOs) of

1,2-diphenylcyclopropene 3a and corresponding values of orbital energies (HF/6-31G*)."*

S19



ap-3¢, E” = -651.829034 a.u. sc-3¢, B” = -651.825286 a.u.
Figure S3. View of the molecule of 1,2-diphenyl-3-vinylcyclopropene 3¢ in its antiperiplanar (ap-3c,
left) and synclinal (sc-3¢, right) conformations and the corresponding values of thermally uncorrected

total energies E” (HF/6-31G*).

Photoelectron spectra of cyclopropenes 3b, 3¢ and 3e:

| | [ ! | ! |
7 8 9 10 1 12 13 14 lP’ eV

S20



o (—

|
15 IP, eV

T,
CO,Me
P Ph
3e
! i | 1 \ \ i |
8 10 1 12 13 14 15 16 eV

S21



4. Copies of '"H NMR and “C NMR spectra of obtained compounds

Ph g E
| T

4a

| n—

3963 /'_lj
. =
o
(.
=

N | “
B F SE rsﬁ. ra @W @7 = ’/ﬁw M
= |2 = = HEIEIIEIE =
A TR T q2 e’ T e’ T s’ ' a2 | 4R | 4w T Tdn T 3 Za T T T T T Tl T o
ippmy}
g BEEYESEGIIHE 5 = BBE 3
= TEANEREREEREN B3 ¥ BaZd 8
B e I T
b T R A 01 0o 1 110 m 3 i B i 3 0

S22



44781
35
— 12198

T e 7 72 70 de g8 A4 B2 B0 e A8 64 B2 ED 48 48 4¢ 42 4D 38 38 34 22 30 28 28 24 22 2% 1B 15 14 12 10 o8 08
(P}
z SBCERRECSREE 23 = 3¢ 3  Fgm
g CEEEEES EESEE b § Zg m  92E
Ll | | | | rJ_,
¢ r—-

S23



17128
1632

4918
— 3513
i 1]
2655

£ L
=

[ 1L / \
18 %‘ 8 18] {E : @a} E
"dla d27aD 7e TE T4 T2 70 B8 88 6e 62 8D 59 56 54 52 A0 4% &8 44 472 £0 33 'ﬁ'!!z':a':'&.'n Te 28 Fa 2 2 e 1 T T de ol e
(pprn}
g GIPECEUREERIRE & 5
= FSoonaolAcananEa o S

—53.074

— &4
T
— 555

S24



|/

A

[

Al

s

[T}
L

(B

[

Al

vy
o

[ePh g ur

=
e

sl
L]

AR S —

PETROF ——

e T8—
BEFE——

OEEETF —

BIEDM—

(o)

S25



J41 58

i u

|
:—\
:
1.00 080

e
{ppm)

Toige e !

T T T T T T T T T T T T T T T
4.9 4 4.0 38 3.6 34 3 0 &) L &) 1.6&
[eieliah]
- 5
% =&

S26



109878

3 T " o P
s ] = g fry g
=% 3 e g - e
= m o =
= @ o5 =
™~ = “

(mm)

S27



45113

N |

{opmy)
5 o =
2o & -
== = o
e iy | 1 ]
o % -
200 i9g 180 170 160 150 140 130 10 1o 100 g 50 K a 50 40 k1) 20

(o)

S28



SHIET—

maEaur L

(opm)

I
iy
SRR —

R BT

¢

L)

T4

ten

S29



T T T T T
fmn
I
=3 i g = =
o - 5 o &, =
= - Pug- - —
. 3 o - -
= — o o,
- w0 e

(o

S30



T "‘!Ec L =}
= I b 2
o} i ™ gy -

T

— AN

-
—

£ b - . ..
e i = [ T | = :
&5 ] i T al = ¥
£ g : AIHEEE E
o oy =1 = [ - .
T T T LIS B B B B B B I N B B B N B O B B B B B B B B B N N B R B B B S B B B |
& Al A LA 20 i e L)
ippe)
3 & B >
r v, — o -
X - . == -
o ~ ~ o o,
o T~ ) = p]
™ =~ ~ W Ll

fefeio bl

S31



oy _—
& g \.‘T
] =E 5
- e -

— 6568
—— 340y
v

e 2 _.'_.-_l_.-

3
__
e

224

2G5
30000

{ i -

=
0.9872
10,0888

—
3, M0

L ni ] L 23 A 42 a0 a3 iy L3 2 LA i
(e o

n . =
13 = = = n 5 o =
E [ - o - iy by e o =
>, - o * g g »> = - 5
o4 - v = o o ©y -~ =
o, = = b e T o = T
- - E=1 = 1y = -,

S32



R —

PR —

FE0R E —

LFF

35

LEBED

U e :

L [

i

S33



5. NOESY 'H 'H spectra of compounds 21a, 21b and 23.

0 CH, Q Ph
H Ph H Ph o
R / 3
) H_/
ot O HH HJ
H

21a, R = Ph, 21b, R = Ph
23, R = CO,Me

. \
|"I ?I 3
\ |
4 % {
| E i’.
8 . 1 F g
i
' i
E £ pon

S34



B i e e e e

pam

S35



6. Computational data

6.1. Evaluation of the S—T gap of model carbonyl ylides

@ @ @D
@e HO</07@ Me\</o Z@
(@]

v

]} v

//O\ o) </ 7

@
@ O o
I I

Table S5. Calculated thermally uncorrected total energies E° for singlet S and triplet T states of model

carbonyl ylides I-V at B3LYP/6-31+G** and CASSCF(5,5)/6-31+G** levels.”

. Total energy, E’, Total energy, E',
ylide AEgy AEst
B3LYP/6-31+G** CASSCF(5,5)
_153.641239 ~152.962911
I 0.023541 —0.024508
153.617698 —152.938403
231.017145 229.822128
0.011514 0.014012
& 231.005631 229.808116
~270.487908 268.865801
- ~0,019700 0.015983
270.468208 268.849818
306.204783 304.736837
v +0.007257
306.212041 304.722822 —0.014015
344.531253 342.618684
vV 0.023156 0.001278
344.508097 342.617406

a
Calcuclations were carried out using GAMESS package (version 6.4 ref. 16). corresponds to the transition state of opening of oxirane ring (NImag=1).

6.2. Evaluation of the biradical character of model carbonyl ylides

Significant biradical character of the simple carbonyl ylide I was proposed previously.'® Evaluation of

the biradical character of model carbonyl ylides in this work is based on natural orbitals occupancies in

CASSCEF calculations (Table S6). Calculations clearly indicates significant biradical character for cyclic

S36



non-stabilized carbonyl ylides I, III, IV, whereas employed to model cycloaddition reactions with
cyclopropenes ylide V possesses zwitter-ionic character.

Table S6. Natural orbital occupation numbers for the model carbonyl ylides and distorted

acetylene as calculated at CASSCF(5,5).”

n; np n3 ny4 ns Ng

ylide I 198 197 1.69 032 0.026 0.025
ylideII.  1.98 198 1.67 0.33 0.02 0.02
ylideIV. 197 197 158 043 0.026 0.026
ylide V 198 197 195 0.06 0.03 0.02

bent
, 197 187 171 030 0.13 0.02
acetylene

a
Only the occupation numbers for the six “central” orbitals are shown. bacetylene model calculated at CASSCF(10,10) where the hydrogenes are bent 60°

away from linearity.

6.3. Atomic coordinates for the optimized structures of carbonyl ylides 9, 25, 26 and

cyclopropenes 3a—f, 27a—f (B3LYP/631G¥)

Carbonyl ylide 9:
¢ 7
LN P o &
- - -
v N A

R

@

E’= —611.4927583 a.u.

Center Atomic Atomic Coordinates (Angstroms)
Number Number Type X Y Z
1 6 0 -2.700503 -1.448735 0.000357
2 6 0 -1.674519 -2.420535 0.000020
3 6 0 -0.349951 -2.036704 -0.000276
4 6 0 -0.024962 -0.655480 -0.000259
5 6 0 -1.053723 0.326037 0.000034

S37



Center
Number

Center
Number

ook oy 0 Oy Oy Oy Oy

Atomic
Number

Atomic
Number

0 -2.392527 -0.099577 0.000350
0 -0.752021 1.783540 0.000099
0 -1.647615 2.649973 0.000248
0 0.633331 2.070611 0.000054
0 1.311948 -0.193460 -0.000329
0 1.583619 1.079985 -0.000137
0 2.344365 -1.040445 -0.000628
0 3.671308 -0.492264 0.001024
0 -3.738852 -1.769342 0.000647
0 -1.931038 -3.476062 0.000025
0 0.447171 -2.772526 -0.000510
0 -3.156128 0.671567 0.000610
0 1.077289 3.054159 0.000233
0 4.335461 -1.355928 0.000182
0 3.838276 0.114897 0.895728
0 3.839510 0.117591 -0.891598
Carbonyl ylide 25:
\r)”’hh\\ ®a
— ‘,b
g L
&
0
E" =-344.505542 a.u.
Atomic Coordinates (Angstroms)
Type X Y Z
0 0.748761 1.208694 -0.000606
0 1.349671 -0.073578 0.000146
0 0.122660 -1.052824 0.000652
0 -1.047820 -0.140519 -0.000328
0 -0.620281 1.087963 -0.000953
0 -2.507265 -0.395908 0.000430
0 2.529500 -0.421363 0.000360
0 1.124858 2.216998 -0.001821
0 0.141998 -1.707817 0.881818
0 0.142333 -1.709539 -0.879200
0 -3.056089 0.549823 -0.005530
0 -2.812096 -0.973304 0.884978
0 -2.810792 -0.984151 -0.877264
Carbonyl ylide 26:
o ,0\ S
— | ¢
-
0
E"=-419.7150327 a.u.
Atomic Coordinates (Angstroms)
Type X Y Z

S38



1 6 0 1.014454 1.207085 -0.000020
2 6 0 1.712695 -0.004795 -0.000001
3 6 0 0.577522 -1.111978 -0.000005
4 6 0 -0.653122 -0.293880 0.000008
5 8 0 -0.394026 0.962287 -0.000019
6 8 0 -1.891155 -0.734256 0.000029
7 8 0 2.916129 -0.275763 -0.000001
8 6 0 -2.951888 0.250100 -0.000016
9 1 0 1.274115 2.250044 -0.000026
10 1 0 0.638822 -1.756177 0.884194
11 1 0 0.638814 -1.756175 -0.884153
12 1 0 -3.874675 -0.327376 0.000257
13 1 0 -2.883687 0.874553 -0.894465
14 1 0 -2.883399 0.875012 0.894006
Cyclopropene 3a:
- w by o -
P N S
b
E’=-578.7564179 a..
Center Atomic Atomic Coordinates (Angstroms)
Number Number Type X Y Z
1 6 0 -0.657368 -0.920348 0.000007
2 6 0 -0.000002 -2.275468 0.000023
3 6 0 0.657370 -0.920351 0.000018
4 6 0 -1.942288 -0.269582 0.000013
5 6 0 -2.061969 1.134650 0.000403
6 6 0 -3.115855 -1.046755 -0.000353
7 6 0 -4.369062 -0.439464 -0.000360
8 6 0 -3.315798 1.737149 0.000407
9 6 0 1.942289 -0.269582 -0.000005
10 6 0 -4.474197 0.953468 0.000019
11 6 0 3.115858 -1.046753 0.000359
12 6 0 2.061967 1.134650 -0.000407
13 6 0 4.369064 -0.439460 0.000350
14 6 0 4.474196 0.953473 -0.000043
15 6 0 3.315795 1.737151 -0.000428
16 1 0 0.000034 -2.879968 -0.914413
17 1 0 -0.000026 -2.879954 0.914467
18 1 0 -1.163998 1.745703 0.000738
19 1 0 -3.026789 -2.129371 -0.000634
20 1 0 -5.266111 -1.053029 -0.000654
21 1 0 -3.392904 2.821280 0.000717
22 1 0 -5.452204 1.427033 0.000019
23 1 0 3.026795 -2.129369 0.000650
24 1 0 1.163995 1.745700 -0.000740
25 1 0 5.266114 -1.053022 0.000641
26 1 0 5.452201 1.427040 -0.000056
27 1 0 3.392899 2.821282 -0.000748

S39



Cyclopropene 3b:
- 4

o A P L Y
| - - |

-

4 N b\’\._—‘y. i ./h\\,/‘\O

“ ¢

A,

E’=618.0725935 a.u.

Center Atomic Atomic Coordinates (Angstroms)
Number Number Type X Y Z
1 6 0 -0.658754 -0.678949 0.170478
2 6 0 -0.000370 -2.023162 0.347767
3 6 0 0.658222 -0.678622 0.173762
4 6 0 -1.939500 -0.022344 0.090534
5 6 0 0.002631 -3.075490 -0.756972
6 6 0 -2.051134 1.366681 -0.120830
7 6 0 -3.119021 -0.778477 0.230699
8 6 0 -4.368013 -0.166465 0.163214
9 6 0 -3.300834 1.974255 -0.188599
10 6 0 1.939033 -0.021407 0.100137
11 6 0 -4.464217 1.211211 -0.046956
12 6 0 3.118199 -0.776922 0.246478
13 6 0 2.051054 1.367612 -0.111062
14 6 0 4.367216 -0.164311 0.185165
15 6 0 4.463807 1.213354 -0.024897
16 6 0 3.300782 1.975783 -0.172668
17 1 0 -0.002697 -2.461989 1.355185
18 1 0 0.886279 -3.723515 -0.689648
19 1 0 0.005096 -2.603362 -1.746025
20 1 0 -0.881146 -3.723799 -0.694193
21 1 0 -1.149826 1.962475 -0.231297
22 1 0 -3.039223 -1.849428 0.393894
23 1 0 -5.268750 -0.764425 0.273992
24 1 0 -3.370712 3.046498 -0.352155
25 1 0 -5.438874 1.688596 -0.100909
26 1 0 3.038102 -1.847870 0.409543
27 1 0 1.150025 1.962920 -0.226333
28 1 0 5.267674 -0.761798 0.300668
29 1 0 5.438490 1.691207 -0.074029
30 1 0 3.370962 3.048011 -0.336190
Cyclopropene 3c¢:

?
*?
T FR o

L A o N ol

. |- .
& “‘”\" NG
¢

E’ = _656.154430 a.u.

S40



Center
Number

Center
Number

Atomic Atomic Coordinates (Angstroms)
Number Type X Y Z
6 0 0.656375 0.386858 0.236182
6 0 0.000723 1.731677 0.479121
6 0 -0.656146 0.387476 0.236178
6 0 1.947606 -0.241657 0.116519
6 0 2.079320 -1.627532 -0.101690
6 0 3.112537 0.541422 0.222035
6 0 4.371135 -0.044361 0.112482
6 0 3.339078 -2.207922 -0.209637
6 0 -1.947908 -0.239961 0.116558
6 0 4.489313 -1.419555 -0.102939
6 0 -3.112147 0.544538 0.219111
6 0 -2.080805 -1.626205 -0.098552
6 0 -4.371224 -0.040194 0.109430
6 0 -4.490577 -1.415751 -0.103011
6 0 -3.341038 -2.205551 -0.206552
6 0 0.001326 2.791215 -0.564991
6 0 0.002089 4.104681 -0.318299
1 0 0.000835 2.128170 1.502648
1 0 1.187004 -2.241518 -0.183759
1 0 3.012594 1.610577 0.385154
1 0 5.262163 0.572267 0.194925
1 0 3.427168 -3.278134 -0.377238
1 0 5.471735 -1.876001 -0.188090
1 0 -3.011284 1.613946 0.379999
1 0 -1.189029 -2.241329 -0.177919
1 0 -5.261709 0.577531 0.189496
1 0 -5.473373 -1.871377 -0.188230
1 0 -3.430045 -3.276069 -0.371699
1 0 0.001147 2.435066 -1.596594
1 0 0.002543 4.838725 -1.118914
1 0 0.002300 4.493066 0.698543
Cyclopropene 3d:
¢
@[&"
;[@
@ " by ®
k_ - - - - i
- ' e
P o
o W ° ¢ Y
-
E’=-809.8131423 a.u.
Atomic Atomic Coordinates (Angstroms)
Number Type X Y Z
6 0 0.659262 -0.503245 -0.536862
6 0 -0.019577 0.724652 -1.099365
6 0 -0.064496 4.474964 -0.466717
6 0 -0.054614 4.542043 0.927034
6 0 -0.053016 3.235627 -1.108378
6 0 -0.654086 -0.521567 -0.525522
6 0 1.958674 -1.064222 -0.263118
6 0 2.104854 -2.349321 0.295827
6 0 -0.031493 2.041334 -0.374908

W oW WN =

S41



Center
Number

6 0 3.115312 -0.319852 -0.561301
6 0 4.379644 -0.845567 -0.307844
6 0 -0.033179 3.358728 1.669676
6 0 -0.021752 2.122417 1.025958
6 0 3.370253 -2.870973 0.545075
6 0 -1.932682 -1.118026 -0.229669
6 0 4.512155 -2.121715 0.244817
6 0 -3.114196 -0.404662 -0.505302
6 0 -2.034024 =2.407702 0.328658
6 0 -4.359086 -0.964809 -0.230317
6 0 -4.447119 -2.245117 0.321607
6 0 -3.280182 -2.963841 0.599391
1 0 -0.030700 0.848105 -2.189489
1 0 -0.081170 5.387881 -1.057049
1 0 -0.063502 5.505260 1.430273
1 0 -0.060851 3.190257 -2.195797
1 0 1.219081 -2.932918 0.529597
1 0 3.005335 0.673444 -0.986393
1 0 5.264117 -0.258948 -0.541313
1 0 -0.025337 3.398953 2.756197
1 0 -0.005078 1.207838 1.612989
1 0 3.468922 -3.864260 0.974985
1 0 5.499250 -2.531162 0.441570
1 0 -3.038759 0.592016 -0.930005
1 0 -1.128764 -2.967731 0.544770
1 0 -5.263140 -0.401865 -0.446435
1 0 -5.419094 -2.681450 0.535130
1 0 -3.344218 -3.960289 1.028540

Cyclopropene 3e:

4« o
-
@ o @

- . T

vy ¢ & \
L )
‘s
e~
-
E’ = -806.6355257 a.u.
Atomic Atomic Coordinates (Angstroms)
Number Type X Y Z

6 0 -0.653549 -0.136903 -0.355414
6 0 -0.000111 1.165681 -0.760881
6 0 0.653830 -0.136623 -0.355373
6 0 -1.952522 -0.735837 -0.187570
6 0 -0.000410 2.311480 0.208174
6 0 -2.092041 -2.075828 0.223331
6 0 -3.110385 0.020944 -0.442468
6 0 -4.372752 -0.547058 -0.292142
6 0 -3.355515 -2.638438 0.372085
6 0 1.953004 -0.735146 -0.187601
6 0 -4.499978 -1.877242 0.114690
6 0 3.110623 0.021936 -0.442705
6 0 2.092951 -2.074986 0.223642
6 0 4.373168 -0.545672 -0.292391
6 0 4.500816 -1.875734 0.114710
6 0 3.356601 -2.637196 0.372411
8 0 -0.001224 3.496526 -0.454592
8 0 -0.000092 2.223487 1.417902
6 0 -0.001657 4.662253 0.381697
1 0 -0.000246 1.475902 -1.809308
1 0 -1.203766 -2.667088 0.425832

S42



22 1 0 -3.005490 1.055045 -0.757698
23 1 0 -5.259326 0.048659 -0.491693
24 1 0 -3.450533 -3.673047 0.690589
25 1 0 -5.485454 -2.319461 0.232483
26 1 0 3.005400 1.055955 -0.758089
27 1 0 1.204868 -2.666423 0.426463
28 1 0 5.259551 0.050264 -0.492132
29 1 0 5.486433 -2.317640 0.232512
30 1 0 3.451950 -3.671693 0.691182
31 1 0 -0.002738 5.514074 -0.299757
32 1 0 0.887302 4.681496 1.018443
33 1 0 -0.889861 4.680065 1.019529

Cyclopropene 3f:

ﬁ-
¢ e <
o 4 S S )
. % - -— -
Ty - -
‘e ‘:~*=\ e
(" & i) »
E’=-671.0002018 a.u.
Center Atomic Atomic Coordinates (Angstroms)
Number Number Type X Y Z

1 6 0 -0.655023 0.441977 -0.298094
2 6 0 0.000213 1.763976 -0.640807
3 6 0 0.655039 0.441743 -0.298156
4 6 0 -1.956820 -0.154951 -0.149017
5 6 0 0.000563 2.861602 0.316105
6 6 0 -2.101628 -1.523092 0.153244
7 6 0 -3.109405 0.635449 -0.309161
8 6 0 -4.374614 0.070852 -0.170888
9 6 0 -3.368369 -2.081312 0.288616
10 6 0 1.956669 -0.155569 -0.149168
11 6 0 -4.508212 -1.287293 0.126870
12 6 0 3.109471 0.634507 -0.309349
13 6 0 2.101096 -1.523759 0.153056
14 6 0 4.374523 0.069541 -0.171149
15 6 0 4.507746 -1.288650 0.126569
16 6 0 3.367683 -2.082346 0.288355
17 7 0 0.001142 3.742635 1.075210
18 1 0 0.000239 2.113132 -1.678299
19 1 0 -1.216484 -2.139800 0.279478
20 1 0 -2.999368 1.691837 -0.535836
21 1 0 -5.257846 0.691230 -0.294291
22 1 0 -3.469777 -3.137731 0.521576
23 1 0 -5.496062 -1.726552 0.234531
24 1 0 2.999726 1.690935 -0.535974
25 1 0 1.215781 -2.140217 0.279316
26 1 0 5.257928 0.689668 -0.294576
27 1 0 5.495475 -1.728195 0.234170
28 1 0 3.468801 -3.138799 0.521286

Cyclopropene 27a:

S43



E’=-116.6190398 a.u.

Center Atomic Atomic Coordinates (Angstroms)

Number Number Type X Y Z
1 6 0 -0.500307 0.648141 -0.000050
2 6 0 -0.502096 -0.646642 0.000027
3 6 0 0.861471 -0.001192 -0.000009
4 1 0 -1.040371 1.583174 0.000034
5 1 0 -1.044913 -1.580082 0.000163
6 1 0 1.465431 -0.002497 0.913099
7 1 0 1.46544¢6 -0.002436 -0.913108

E’=-155.936435 a.u.

es (Angstroms)

648565
648436
000019
000099
579398
579179
000040
883966
001659

.115169
.115121
.491526
.208588
.367596
.367326
.585129
.067088
.297812

Center Atomic Atomic Coordinat
Number Number Type X

1 6 0 1.062134 -0.

2 6 0 1.062255 0.

3 6 0 -0.158422 0.

4 6 0 -1.510053 0.

5 1 0 1.549763 -1.

6 1 0 1.550173 1.

7 1 0 -0.247787 -0.

8 1 0 -2.100530 0.

9 1 0 -1.387717 0.

10 1 0 -2.099388 -0.

885301

.064628

Cyclopropene 27¢:

& e
0‘}2\

S44



E’=-194.0149826 a.u.

Center Atomic Atomic Coordinates (Angstroms)
Number Number Type X Y Z
1 6 0 1.294698 -0.530425 -0.560110
2 6 0 1.357951 -0.076455 0.649249
3 6 0 0.417416 0.670448 -0.273455
4 6 0 -1.067447 0.537121 -0.145747
5 6 0 -1.726113 -0.539871 0.292798
6 1 0 1.552978 -1.270965 -1.302933
7 1 0 1.708414 -0.155821 1.667962
8 1 0 0.735114 1.644889 -0.655858
9 1 0 -1.639217 1.416171 -0.445659
10 1 0 -2.810148 -0.556166 0.355615
11 1 0 -1.206166 -1.443014 0.604460
Cyclopropene 27d:
Y
® 5
0
E" =-208.8622083 a.u.
Center Atomic Atomic Coordinates (Angstroms)
Number Number Type X Y Z
1 6 0 -1.372574 0.647417 0.226350
2 6 0 -1.373015 -0.643153 0.231506
3 6 0 -0.271915 -0.001520 -0.587172
4 6 0 1.100999 -0.000479 -0.102612
5 7 0 2.197255 -0.002098 0.284102
6 1 0 -1.773811 1.600506 0.533976
7 1 0 -1.774912 -1.593468 0.546760
8 1 0 -0.333034 -0.005941 -1.677877
Cyclopropene 27e:
0
E"=-215.8583178 a.u.
Center Atomic Atomic Coordinates (Angstroms)
Number Number Type X Y Z
1 6 0 0.964860 0.652461 0.120090

S45



Center
Number

Atomic
Number

0 0.963529 -0.654833 0.122675
0 -0.213146 -0.001031 -0.471459
0 -1.414883 0.002780 0.235280
0 1.445766 1.581171 0.392615
0 1.442272 -1.583617 0.398711
0 -0.445548 -0.002153 -1.536687
Cyclopropene 27f:
- ‘\
0
E"=-344.4852138 a.u.
Atomic Coordinates (Angstroms)
Type X Y Z
0 -2.063260 0.233529 0.645430
0 -2.027373 0.366566 -0.634307
0 -0.699596 0.555683 0.071186
0 0.301849 -0.570835 -0.002499
0 -0.026630 -1.733868 -0.044147
0 1.631709 -0.274225 -0.019176
0 2.111400 1.071563 -0.012616
0 -2.577729 0.003059 1.564664
0 -2.488549 0.331122 -1.608552
0 -0.304690 1.564612 0.184937
0 3.198105 0.991734 -0.080922
0 1.851835 1.593324 0.915495
0 1.742286 1.641860 -0.872204

6.4. Atomic coordinates for the optimized structures in the reaction paths

The interaction of cyclopropene 27a (R = H) with carbonyl ylide 25 (B3LYP/6-311++G**):

E’=-461.2671399 a.u.

PC1

Center
Number

Atomic
Number

N e Oy Oy Oy Oy @ Oy O Oy Oy Oy

QO DD DD DDO O

Coordinates (Angstroms)

X Y Z
.092383 -0.040764 -0.055161
.026978 -0.000333 1.504348
.376179 0.014403 1.897887
.191534 0.001766 0.778092
.544685 -0.026458 -0.339973
.016070 0.013482 2.161568
.294065 -0.038599 -1.614372
.299369 1.712905 0.525173
.889467 1.870116 -0.614807
.983091 3.048725 0.319913
.433588 0.811525 -0.499930
.391083 -0.944862 -0.442037
.888457 0.046473 2.840965
.367981 -0.027169 -1.424977
.031881 0.830624 -2.229187
.046092 -0.928501 -2.204886
.173948 1.477927 -1.576575

S46



18 1 0 -2.721075 1.108517 1.210858
19 1 0 -4.920933 3.255596 0.837308
20 1 0 -3.382865 3.940522 0.132407
TS1
E”=-461.2645306 a.u.
Imaginary Frequency =—-102.7193 cm !
Center Atomic Atomic Coordinates (Angstroms)
Number Number Type X Y Z
1 6 0 1.654130 -0.028667 -0.015466
2 6 0 0.828211 -1.027520 0.843567
3 6 0 -0.409265 -1.224820 0.042427
4 6 0 0.891249 0.097685 -1.203852
5 8 0 -0.239833 -0.674153 -1.127743
6 8 0 2.715253 0.490243 0.318903
7 6 0 -1.514133 -2.198841 0.208800
8 6 0 -1.473575 1.123330 0.955736
9 6 0 -0.608467 1.928785 0.404570
10 6 0 -1.919901 1.785864 -0.320936
11 1 0 0.678027 -0.686098 1.867125
12 1 0 1.377679 -1.979447 0.890451
13 1 0 1.040395 0.622752 -2.129545
14 1 0 -2.332800 -1.969184 -0.474987
15 1 0 -1.889791 -2.186593 1.234203
16 1 0 -1.170219 -3.222219 0.000912
17 1 0 -1.801247 0.587578 1.829460
18 1 0 0.302877 2.495607 0.473469
19 1 0 -2.642495 2.602621 -0.288810
20 1 0 -1.959569 1.199982 -1.240877
CAl
E’=-461.3959634 a.u.
Center Atomic Atomic Coordinates (Angstroms)
Number Number Type X Y Z
1 6 0 0.683183 -1.259550 -0.579492
2 6 0 1.629582 -0.184578 -0.017038
3 6 0 0.696155 0.734168 0.794058
4 6 0 -0.038887 1.565140 -0.265179
5 6 0 -0.993822 0.545492 -0.864536
6 6 0 -0.682039 -0.737798 -0.073362
7 6 0 -1.530195 1.712765 -0.081077
8 8 0 -0.296954 -0.204534 1.228615
9 6 0 -1.794094 -1.746630 0.089682
10 8 0 2.815088 -0.075175 -0.189358
11 1 0 0.925089 -2.229024 -0.134358
12 1 0 0.780778 -1.337825 -1.664304
13 1 0 1.148851 1.249843 1.637431
14 1 0 0.519678 2.267622 -0.870247
15 1 0 -1.157563 0.473568 -1.932990
16 1 0 -1.999323 2.504367 -0.653055
17 1 0 -1.955175 1.537846 0.899364
18 1 0 -2.675922 -1.273693 0.527542
19 1 0 -1.478058 -2.565668 0.739981
20 1 0 -2.072724 -2.163409 -0.881755

The interaction of 3-methylcyclopropene 27b (R = Me) with carbonyl ylide 25 (B3LYP/6-311++G**):

PC1
E’=-500.5950868 a.u.

S47



Center
Number

Atomic
Number

MR RodadNORRNROSO

[
=N

-1.

E’=-500.5925069 a.u.

TS1

Imaginary Frequency =—-105.5966 cm’

Center
Number

Atomic
Number

Coordinates (Angstroms)

X Y Z
.028448 0.021837 -0.012280
.001825 -0.026870 1.278653
.391064 -0.027427 1.788625
.255495 0.047906 0.490593
.306233 0.062860 -0.545869
.299859 -0.068756 1.978418
.487738 0.083256 0.470798
.460896 1.882351 3.051245
.331327 2.055478 4.329256
.854029 3.247639 3.571652
.307427 3.686129 3.656204
.596851 0.817208 2.455926
. 618241 -0.937735 2.354871
.356984 0.112950 -1.617215
.119359 -0.060228 1.258996
.408421 0.789955 2.651601
380738 -0.968413 2.599837
.077482 1.654344 5.297127
. 383466 1.248027 2.177835
.165992 4.078323 3.389191
.459706 4.401723 4.472316
. 964203 2.829187 3.831015
. 627765 4.172498 2.728179

Coordinates (Angstroms)

X Y Z
. 786043 0.799827 0.046982
. 666912 -0.495130 -0.805323
.709255 -1.327636 -0.029122
.033691 0.501944 1.211549
.513490 -0.764289 1.131411
.406765 1.809236 -0.273780
.327003 -2.750588 -0.193008
.389772 -0.298298 -1.840240
. 646671 -0.995333 -0.815248
.844818 1.030505 2.127984
.505171 -3.001158 0.466701
.039508 -2.957546 -1.226049
.169317 -3.414201 0.049744
.416082 0.031112 -1.033790
.157118 1.189641 -0.485274
.216186 0.366461 0.196824
. 688449 0.741818 0.136823
.360923 -0.595488 -1.908241
. 706559 2.164217 -0.561606
.934906 -0.137273 1.126191
.957117 1.410009 0.961939
.928573 1.249634 -0.801361
.324751 -0.146630 0.213260

The interaction of 3-vinylcyclopropene 27¢ (R = vinyl) with carbonyl ylide 25 (B3LYP/6-311++G**):

E’=-538.6900932 a.u.

PC1

Center
Number

Atomic
Number

Coordinates

Y

(Angstroms)

S48



1 6 0 0.000000 0.000000 0.000000
2 6 0 0.000000 0.000000 1.404019
3 8 0 1.305948 0.000000 1.874163
4 6 0 2.194626 -0.005613 0.937438
5 6 0 1.513732 -0.007772 -0.375303
6 6 0 3.629199 0.005070 1.293415
7 8 0 -0.927144 0.003431 -0.815956
8 6 0 -0.157229 1.698436 -3.417554
9 6 0 -0.063421 2.544887 -4.384302
10 6 0 1.263376 2.112976 -3.795413
11 6 0 2.043147 3.014191 -2.916564
12 6 0 3.369993 2.978051 -2.756282
13 1 0 1.791200 0.863490 -0.981441
14 1 0 1.767420 -0.893655 -0.968116
15 1 0 -0.761243 0.006350 2.161195
16 1 0 3.754017 0.022523 2.376624
17 1 0 4.127609 0.880037 0.860074
18 1 0 4.137734 -0.878644 0.890209
19 1 0 -0.524237 3.173526 -5.127487
20 1 0 -0.707837 1.085314 -2.716699
21 1 0 1.876649 1.404856 -4.358299
22 1 0 1.459740 3.752247 -2.366669
23 1 0 3.882919 3.672409 -2.100696
24 1 0 3.986929 2.264691 -3.295554
TS1
B’ =-538.6847727 a.u.
Imaginary Frequency =—-106.6017 cm !
Center Atomic Atomic Coordinates (Angstroms)
Number Number Type X Y Z
1 6 0 2.054660 -0.873267 0.214339
2 6 0 2.092710 0.390676 -0.689880
3 6 0 1.099026 1.296304 -0.052938
4 6 0 1.192004 -0.496846 1.276547
5 8 0 0.750863 0.788295 1.097737
6 8 0 2.655565 -1.921392 0.000280
7 6 0 0.807795 2.727297 -0.307802
8 1 0 1.920140 0.165441 -1.741704
9 1 0 3.091158 0.845395 -0.609821
10 1 0 0.883984 -0.977603 2.187084
11 1 0 -0.074642 3.043668 0.250398
12 1 0 0.639936 2.904030 -1.372366
13 1 0 1.653124 3.360235 -0.002127
14 6 0 -0.959776 -0.014437 -1.225003
15 6 0 -0.823960 -1.153087 -0.604436
16 6 0 -1.907960 -0.243017 -0.067160
17 6 0 -3.341395 -0.549831 -0.290355
18 6 0 -4.328322 -0.209936 0.540887
19 1 0 -0.797786 0.573631 -2.112483
20 1 0 -0.439564 -2.157974 -0.581100
21 1 0 -1.708260 0.289708 0.865586
22 1 0 -3.573680 -1.091717 -1.205968
23 1 0 -5.361217 -0.460281 0.329555
24 1 0 -4.133301 0.329074 1.463313

The interaction of 3-cyanocyclopropene 27d (R = CN) with carbonyl ylide 25 (B3LYP/6-311++G**):

PC1
E’ = -553.5404953 a.u.

Center Atomic Atomic Coordinates

Number Number Type X

(Angstroms)

S49



WO NN W N =

I kb Oy N Oy Oy Oy Oy 0 Oy @ Oy Oy Oy

QO DD DT DT DD DDTDOT O

E’=-553.5320715 a.u.

TS1

Imaginary Frequency =—111.0805 cm’

Center
Number

Atomic
Number

Atomic
Type

.002161 -0.000204 -0.025735
.008143 -0.004265 1.531538
.349954 -0.004667 1.882822
.127479 -0.000328 0.733986
.445010 0.002218 -0.360786
.037582 -0.006766 2.219046
.150599 0.007999 -1.659906
. 689309 -0.116557 5.314048
. 366294 0.573757 6.170411
. 766963 0.344300 5.882612
.879003 0.165013 5.621576
.548592 -0.582097 6.505007
.515261 0.879849 -0.422799
.513292 -0.879690 -0.426660
.900497 -0.005844 2.806348
.230029 0.008939 -1.505491
.874192 0.889702 -2.250066
.876657 -0.869853 -2.256863
. 798089 -1.278324 7.286179
.079951 -0.102189 4.303492
.171485 1.564209 6.578441
Coordinates (Angstroms)
X Y Z
. 989862 -0.951126 -0.063857
.029858 0.349753 0.785714
.151020 1.281117 0.027916
.228127 -0.580785 -1.206769
.862407 0.735866 -1.123403
.505345 -2.019448 0.240790
.934199 2.738318 0.191355
. 755275 0.182820 1.826958
.056911 0.743131 0.778973
.986369 -1.079767 -2.127795
.134221 3.084095 -0.464946
. 679355 2.979513 1.225617
.846969 3.298290 -0.056400
.078947 0.103368 1.042792
. 940616 -1.058479 0.472505
.908839 -0.111343 -0.201028
.336856 -0.333832 -0.102713
.477316 -0.501674 -0.028719
.999172 0.729937 1.912876
. 635054 -2.088760 0.500202
. 616013 0.377174 -1.129962

The interaction of 3-fluorocyclopropene 27e (R = F) with carbonyl ylide 25 (B3LYP/6-311++G**):

E’=-560.5517077 a.u.

PC1

Center
Number

Atomic
Number

Atomic
Type

Coordinates (Angstroms)
X Y Z
. 625747 -0.806118 -0.035594
.272369 -0.284911 1.203464
.266956 0.220481 1.852622
.495865 0.080914 1.044265
.000120 -0.629121 -0.250795
.037327 0.828856 3.180098
. 721949 -0.933957 -1.208400

S50



MR RRRRRRRO OO O

QDD DD O

Oy N N R RO O W N AN O

E’ = 560.5408084 a.u.

TS1

Imaginary Frequency =—-182.0070 cm!

Center
Number

Atomic
Number

Atomic
Type

.524520 1.536045 -1.802424
.141497 2.401811 -0.797630
.315386 2.829049 0.300378
. 736200 2.779730 -2.143708
.959230 1.053786 0.834173
.256107 -0.519830 1.556415
.181385 -1.232563 -0.600886
.015286 0.758926 3.456280
.339158 1.882675 3.176918
. 642234 0.330565 3.946583
. 649409 3.572079 -2.868218
.108946 0.552949 -1.980377
.153582 2.337115 -0.410809
Coordinates (Angstroms)
X Y Z
. 789919 -0.833685 -0.040658
. 690363 0.459778 0.809887
. 723098 1.298144 0.043927
.006294 -0.534927 -1.195469
.547500 0.748799 -1.135470
.402986 -1.848227 0.263334
.405633 2.740087 0.191206
.433647 0.260905 1.849415
.670486 0.959331 0.802676
.852854 -1.050118 -2.126932
.419589 3.019985 -0.465316
.133569 2.970832 1.223100
.275192 3.361357 -0.065354
.266191 0.003861 0.983001
.054283 -1.164063 0.388357
.083450 -0.297188 -0.195400
.433616 -0.651874 -0.005940
.228025 0.569071 1.898679
. 697990 -2.176632 0.463002
.002022 0.207787 -1.154337

The interaction of 1,2-diphenylcyclopropene 3a (R = H) with carbonyl ylide 25 (B3LYP/6-31+G**):

E’=-923.3322983 a.u.

PC2

Center
Number

Atomic
Number

S) O) ) O &Y ) Oy @ Oy Oy Oy Oy O Q©

QO DD DD O

IR R RN DN NN OO RNROO

Coordinates (Angstroms)

X Y Z
.025843 0.064516 -0.026493
.011007 -0.074166 1.262772
.405910 -0.056374 1.763570
.254689 0.124076 0.469338
.299780 0.189673 -0.561215
.285767 -0.215534 1.962650
.495680 0.174135 0.442063
.532463 -2.252805 -1.735054
.426076 -3.659383 -1.693639
.536524 -4.387358 -2.895545
. 758513 -3.730551 -4.105376
.869338 -2.336534 -4.135833
. 752610 -1.603786 -2.948419
.212426 -4.368350 -0.456706

S51



Pk kb ks kb ks kb ke ke ke Oy Oy Oy Oy Oy Oy Oy Oy

QO DT DDDODDODT O

[
AN R N R R W R N

BN O N W W N W

E®=-923.3224204 a.u.

TS2

Imaginary Frequency =—180.4772 cm '

Center
Number

Atomic
Number

Atomic
Type

RFRERRRRERRRRERRRREGGO 0G0 G G G0 G0 GGG 0 GC G ®® G G O 06y &

QO 000D DODODODODODO O

.097760 -4.448390 0.850758
.099324 -3.896138 2.182324
.282436 -2.515801 2.416747
.302483 -2.023319 3.721063
.135878 -2.886400 4.811548
. 946749 -4.254178 4.588568
.929455 -4.755354 3.287124
.001794 -5.753477 0.101935
.580118 0.761310 2.474775
.676070 -0.986584 2.281574
. 344248 0.286926 -1.631492
.110157 -0.182187 1.246749
. 422889 0.585427 2.701307
.330426 -1.164000 2.514131
.840308 -6.458523 0.132924
.028584 -6.243024 -0.017461
.403200 -1.829133 1.584257
.458048 -0.960433 3.884839
.158601 -2.496344 5.825254
.818386 -4.930553 5.429091
. 789871 -5.817536 3.108689
.425769 -1.665275 -0.828443
832644 -0.520629 -2.963679
.043446 -1.824259 -5.077934
. 845438 -4.304561 -5.023702
.449668 -5.469547 -2.864522
Coordinates (Angstroms)
X Y Z
. 645773 1.946674 1.360878
.894015 2.005655 1.204949
.084770 2.479822 -0.121957
.652995 -0.155642 -0.908519
. 689714 -0.159752 -0.842355
.134820 2.246836 -0.013877
.125239 2.717825 -0.721694
.718658 1.693542 2.070204
.507510 2.582360 -0.464923
.077759 0.174473 -2.175891
.848733 -0.844414 -0.304432
.916126 -0.722417 -0.498591
.827979 -1.457628 0.966286
.951536 -2.125141 1.452462
.117814 -2.201481 0.683285
.149794 -1.604289 -0.580953
.031045 -0.927939 -1.068001
.140547 -1.196679 0.809747
.362970 -1.772406 1.150744
.380743 -1.886727 0.199266
.173274 -1.411618 -1.100930
.957089 -0.827078 -1.444966
.957586 2.764473 2.031520
.010998 1.015839 1.797956
. 958312 2.762913 -0.684454
.526666 2.739774 -1.546525
.869267 3.499729 0.023566
.201280 1.776411 -0.208223
.088824 -0.572878 -2.977313
.103392 1.206234 -2.536543
.920787 -1.425137 1.561298
.913901 -2.595561 2.430962
. 989592 -2.725710 1.063265
.048146 -1.665774 -1.188822
.054444 -0.468659 -2.052039
.367524 -1.091408 1.561708

S52



3.524785
5.332129
4.962597
2.794760

-2.123304
-2.335104
-1.492396
-0.448260

2.
0.

165581
470357

-1.842886
-2.449823

The interaction of 3-methyl-1,2-diphenylcyclopropene 3b (R = Me) with carbonyl ylide 25 (B3LYP/6-
31+G**):

E’=-962.6518259 a.u.

PC2

Center
Number

Atomic
Number

Atomic
Type

E’=-962.6412643 a.u.

TS2

Imaginary Frequency =—182.1961 cm'

Center
Number

Atomic
Number

Coordinates (Angstroms)

X Y Z
0.014733 -0.064539 -0.011809
-0.006303 -0.077977 1.394588
1.493343 0.045559 1.798740
2.197753 0.120698 0.496923
1.322542 0.056588 -0.457995
-0.948673 -0.152147 2.200403
3.633069 0.248723 0.157919
-3.247583 2.205430 1.319381
-3.188342 3.613642 1.249475
-4.111713 4.292630 0.428062
-5.073053 3.587792 -0.295087
-5.127369 2.192390 -0.213885
-4.210329 1.507609 0.592408
-2.209761 4.372932 1.989791
-1.709260 5.775485 2.229999
-2.514945 6.800637 3.023977
-1.218290 4.491569 2.849083
-0.272288 3.963985 3.802450
0.640645 4.837854 4.428298
1.557532 4.361293 5.364866
1.578458 3.003156 5.698784
0.677846 2.125279 5.082524
-0.238018 2.593700 4.141120
1.819494 -0.814346 2.397798
1.658570 0.940381 2.414066
-0.735390 -0.098611 -0.781992
3.766879 0.277324 -0.925833
4.209975 -0.592161 0.565587
4.057528 1.162851 0.593781
-1.089872 6.232528 1.445486
-0.920395 1.895517 3.666477
0.680313 1.069932 5.341456
2.284945 2.632755 6.436321
2.251324 5.049763 5.839394
0.617170 5.893019 4.172533
-2.534964 1.651788 1.922617
-4.240982 0.423755 0.657550
-5.877364 1.642460 -0.775494
-5.779951 4.125512 -0.920853
-4.065942 5.376013 0.368310
-3.128108 6.309420 3.787683
-1.857828 7.519735 3.529324
-3.183992 7.374892 2.370790

Coordinates (Angstroms)
X Y Z

S53



.599557
.936177
.098625
.116312
.122795
. 779350
.498207
.906539
.947885
.960604
.546727
.837370
.191529
.649348
.696581
.091427
.850523
.909608
.805321
.925366
.114352
.172630
.057501
.116105
.338215
.376346
.189112
.973091
.137598
.112800
.881522
.866871
.983252
.088946
.105080
.327934
.483401
.327469
.994643
.830314
.064040
.085333
.696511

| ) O H I (R B B |
OQORRKRRRORNMDNMDROO

[
QO OkRWNNMRNDNDRNDNDNDNDDN

.051714
.111240

512905

.275849
. 719498
.850451
.598178

900261

.141518
. 771920
.689117
.548066
.817191
.159215
.149639
.092553
.800732
.701872
. 372289
.002973
.085437
.529382
.889383
.118319
.663458
.804173
.384949
.832268
.957362
.121408
.337139
.439572
.581843
.594818
.462609
.991946
.968499
.228487
.484500
.496516
.874507
.971938
.830682

.401254
.212874
.141505
.021257
. 728354
.077230
.412268
.034724
.892040
. 732911
.500658
.028038
.087217
. 767142
.689522
.049110
.095986
.313775
.193184
. 734333
.002137
.279977
.820759
.017112
.406851
.482027
.840558
.232763
.155678
.425234
. 761314
. 727394
.423772
.860061
.818213
. 749727
.438895
. 790175
.562581
.255317
. 736539
. 747334
.855735

The interaction of 3-vinyl-1,2-diphenylcyclopropene 3¢ (R = vinyl) with carbonyl ylide 25 (B3LYP/6-

E®=-1000.7378922 a.u.

31+GH*);

PC2

Center
Number

Atomic
Number

Atomic
Type

@ 3 ) ) Y Y ) ) ) T B & A & & O O O

QO DD DD O

Coordinates (Angstroms)

X Y Z
.000000 0.000000 0.000000
.000000 0.000000 1.409592
.233410 0.000000 2.094718
.429057 -0.007729 1.378500
.419571 -0.013813 -0.021439
.200956 -0.007912 -0.708137
.259149 -0.000407 2.113538
. 755634 0.050448 1.867654
.481582 -1.114371 1.294954
.576749 -1.035317 0.527273
.013769 -0.058618 3.185840
.244621 -0.184263 4.604450
.179229 -0.268817 5.526700
.443573 -0.404676 6.889154
. 762312 -0.453871 7.357745
.823461 -0.365357 6.450696
.568650 -0.232875 5.086053
.022208 0.896478 5.288442

S54



AP P P S S R o T e

QO DT DDDODDODT O

OO WO OORNDNR

| L |
BN OO Wwo

-4

E® =-1000.7268343 a.u.

Imaginary Frequency = —183.6327 cm'

Center
Number

Atomic
Number

Atomic
Type

HhRRRRRRRRRERRRRRRG®O®O® GG GG GG G GG G G G & G &) &y &

QDT DD TDTDDTDODDDTDTTDTO O

.902583 2.128471 5.394710
.516885 3.184198 4.697736
.033724 4.397419 5.166401
.158506 4.280393 6.115944
.950473 2.840931 6.402085
.563356 5.499487 6.708337
.204743 2.586322 7.439155
.091350 2.529000 6.249667
.230406 3.249926 3.895554
.970395 6.392842 6.229348
. 764281 5.550502 7.786746
.528435 5.498208 6.591080
.201864 1.017772 1.602735
.149734 -0.223030 5.183755
.613465 -0.480820 7.586182
.960502 -0.565651 8.420059
.849220 -0.405527 6.806330
.388602 -0.173830 4.376626
.262550 0.022511 3.179835
.371158 -0.009072 1.919149
.355582 -0.022645 -0.572887
.186984 -0.011650 -1.794412
.949515 -0.000473 -0.526888
.065970 -2.094058 1.536630
.064088 -1.923359 0.136794
.018679 -0.076039 0.264974
Coordinates (Angstroms)

X Y Z
.000000 0.000000 0.000000
.000000 0.000000 1.411252
.236209 0.000000 2.088534
. 432331 -0.017036 1.373251
.419654 -0.035372 -0.024184
.198269 -0.026734 -0.708390
.262203 -0.012922 2.115072
. 714830 -0.311133 1.827021
.089921 -1.512992 1.035354
.163770 -1.591995 0.238715
.997365 -0.440262 3.155854
.009483 -1.306673 4.321302
.851033 -1.525514 5.095816
.886017 -2.369007 6.206030
.072386 -3.017627 6.564587
.226087 -2.816303 5.799934
.198681 -1.966264 4.694274
. 691179 1.782465 4.201527
.321226 2.056575 4.721260
.573121 2.583646 3.472592
.593994 2.705370 2.488802
.809265 2.357956 3.017604
.636973 2.819211 3.402022
.937477 1.514442 4.960534
.382398 2.872224 5.460520
.825459 1.216188 5.209799
.606315 3.103342 1.488063
. 775374 1.354865 4.276865
.185933 2.360063 5.619386
.817063 0.628805 5.591020
.398065 0.534629 1.700229
.080840 -1.046547 4.812562
.017784 -2.527362 6.787605
.095309 -3.677573 7.426659
.149576 -3.323444 6.064918
.092969 -1.817614 4.096570
.258537 0.037182 3.171251
.376711 -0.005311 1.909178
.354279 -0.048313 -0.577329
.182322 -0.035876 -1.794497

S55



41 1 0 -0.948830 0.011716 -0.527458
42 1 0 -2.429619 -2.375607 1.130398
43 1 0 -4.393446 -2.495587 -0.317371
44 1 0 -4.845093 -0.752425 0.116991

The interaction of 3-cyano-1,2-diphenylcyclopropene 3e (R = CN) with carbonyl ylide 25 (B3LYP/6-
31+G**):
PC2
E’=-1015.5796859 a.u.

Center Atomic Atomic Coordinates (Angstroms)
Number Number Type X Y Z
1 6 0 -0.021717 -0.063520 0.008580
2 6 0 0.008719 -0.074478 1.413877
3 6 0 1.525895 -0.011058 1.762637
4 6 0 2.184935 0.027529 0.434714
5 8 0 1.273568 -0.003475 -0.486473
6 8 0 -0.905286 -0.114030 2.255036
7 6 0 3.611199 0.090496 0.043940
8 6 0 -0.295683 2.268186 4.556425
9 6 0 -0.562463 3.651746 4.486873
10 6 0 0.188751 4.538673 5.282484
11 6 0 1.183085 4.055741 6.132252
12 6 0 1.440451 2.682905 6.201227
13 6 0 0.698864 1.795677 5.411546
14 6 0 -1.597705 4.171529 3.628504
15 6 0 -2.594693 4.087091 2.782991
16 6 0 -3.545098 3.403104 1.942404
17 6 0 -3.476712 2.008063 1.745459
18 6 0 -4.418583 1.376303 0.935614
19 6 0 -5.432526 2.114594 0.314163
20 6 0 -5.501629 3.498811 0.501961
21 6 0 -4.564280 4.141181 1.309137
22 6 0 -2.218086 5.490903 3.215900
23 6 0 -3.060974 6.237021 4.139796
24 7 0 -3.725830 6.850828 4.872050
25 1 0 1.838251 -0.881410 2.353840
26 1 0 1.753029 0.878537 2.365261
27 1 0 -0.799457 -0.083115 -0.734191
28 1 0 3.707809 0.098274 -1.044027
29 1 0 4.165651 -0.768249 0.444990
30 1 0 4.088753 0.991752 0.450710
31 1 0 -1.685844 6.146025 2.519267
32 1 0 -0.853532 1.567777 3.941852
33 1 0 0.886732 0.727074 5.468777
34 1 0 2.208838 2.305963 6.870234
35 1 0 1.751293 4.749045 6.745456
36 1 0 -0.022645 5.602663 5.235621
37 1 0 -2.686631 1.420145 2.203150
38 1 0 -4.358420 0.301471 0.791762
39 1 0 -6.164841 1.613626 -0.312560
40 1 0 -6.286832 4.076426 0.023077
41 1 0 -4.618385 5.214493 1.464398
TS2
E’=-1015.5664792 a.u.
Imaginary Frequency =—192.0188 cm '
Center Atomic Atomic Coordinates (Angstroms)
Number Number Type X Y Z
1 6 0 0.650299 2.495531 -0.798925

S56



MR RRRRRRRRRJOOHOHONHOHNSHNHOHNNHNONNRRKRERRROGOO®ONOO O

|
S

.886613
.065713
.151942
.147787
. 721773
.529079
.962652
.006270
.934733
.558776
.889793
.217347
.663015
.678473
.073641
.842541
.937069
.826617
.950889
.107562
.131242
.013532
.165164
.395394
.413028
.198593
-2.975415
0.097286
0.130114
0.109374
0.925165
2.919759
4
5
3

l |
_ O

WA BN RRROOOWNNRRON

[ |
N W N

.978774
.020557
.031270
-1.388820
-3.561721
-5.369698
-4.986012
-2.808584

QO DD DODODDDTDDDDDDO O

-1

-1.
-1.
-1.
-0.
-1.
.450067
-1.
-1.
-1.
-2.
0.
-0.
370771
-2.
-1.
-1.
-0.
-1.
-1.
. 789623
-1.

-1

-1

-1

R WNhNMRWNDNDNDNLDNLDN

.492231
.417303
.255408

434884

.530884
.409305
.503844
. 796175
.490211
.178415
.438933
. 743588
-0.
-0.
-0.
-0.
-0.
-0.
.282029

248990
240449
422472
706500
632660
822795

640692
537849
069157
619434
025469

460625
047980
721201
748473
405991
571910

004919
826864
001994
274146
002357
766799

055531

R OO O OoONR

.618686
. 794853
.584517
. 427171
.524395
.113863
.116724
.557267
.427306
.181880
.973104
.584832
.519624
.452793
.828072
.278687
.043221
.683647
.368860
.668979
.274647
.415593
.433486
.946923
.088363
.294748
.815524
.481605
.027201
.539550
.233664
.450931
.204951
.277749
.499205
-2.
-3.
.493142
.966302
.888250

105971
019591

7. Calculated thermochemical data

Table S7. Calculated thermally corrected values of Gibbs’ Free energy for the reaction of 3-

monosubstituted cyclopropenes 27 with model carbonyl ylide 25 at B3LYP/6-311++G** (T=298.150

K, P=1 atm).
R= Gy Gt AG™pci-tst’
H —461.155085 —461.143754 7.11
Me -500.457431 —500.446032 7.15
vinyl —538.546180 —538.534635 7.24
CN —-553.430551 —553.415191 9.64
F —-560.445357 —560.428016 10.88

a b
a.u.  kcal/mol

S57



Table S8. Calculated thermochemical parameters for the reaction of 1,2-diphenylcyclopropenes 3

with model carbonyl ylide 25 at B3LYP/6-31+G** (T=298.150 K, P=1 atm).

R= G¥8pcd G¥8 AG rers® AAGur®  AH pers’
H -923.069374  —923.049924 12.21 0 5.66
Me -962.363314  —962.342961 12.77 0.56 6.20
vinyl  —1000.445794 —1000.424828 13.16 0.95 6.48
CN —1015.321053 -1015.298006 14.46 2.25 7.74

a b c
a.u. kcal/mol cal/(mol*K)

8. NBO analysis data (B3LYP/631G)
LP = lone pair of O2 oxyge2n atom of carbonyl ylide 25; BD* (0-C-H) = the first unoccupied orbital

of the orfo C—H bond of phenyl ring (Ph' or Ph?) of 1,2-diphenylcyclopropenes 3.

PC (1,2-diphenylcyclopropene 3a + carbonyl ylide 25):
Donor NBO Acceptor NBO E(2) kcal/mol
LP (1) 02 BD* (o-C-H)™ 1.38
LP (1) 02 BD* (0-C-H)™? 1.12
LP (2) 02 BD* (0-C-H)™ 0.90
LP (2) 02 BD* (o-C-H)"™’ 0.96
LP (3) 02 BD* (0-C—H)™ 1.69
LP (3) 02 BD* (0-C-H)™? 1.25
Total: 7.30 kcal/mol
Lone pair Hybrids

LP (1) 02 s(61.27%) p(38.73%)

S58



LP (2) 02

LP (3) 02

5(0.02%) p(99.98%)

5(0.12%) p(99.88%)

PC (1,2-diphenyl-3-vinylcyclopropene 3¢ + carbonyl ylide 25):

Donor NBO

LP (1) 02
LP (1) 02
LP (2) 02
LP (2) 02
LP (3) 02

LP (3) 02

Lone pair
LP (1) 02
LP (2) 02

LP (3) 02

PC (2,3-diphenyl-2-cyclopropene-1-carbonitrile 3f + carbonyl ylide 25):

Donor NBO
LP (1) 02
LP (1) 02
LP (2) 02
LP (2) 02
LP (3) 02

LP (3) 02

Lone pair
LP (1) 02
LP (2) 02

LP (3) 02

Acceptor NBO
BD* (0-C-H)™
BD* (0-C-H)™
BD* (0-C-H)™
BD* (0-C—H)™?
BD* (o-C-H)™

BD* (0-C-H)™

E(2) kcal/mol
1.48
1.29
0.73
1.32
1.70

1.03

Total: 7.55 kcal/mol

Hybrids

$(63.64%) p(36.36%)

5(0.01%) p1(99.99%)

$(0.01%) p(99.99%)

Acceptor NBO
BD* (0o-C—H)™
BD* (o-C-H)™?
BD* (o-C—H)™
BD* (0-C-H)™?
BD* (o-C—H)™

BD* (o-C-H)"™?

E(2) kcal/mol
2.02
1.76
1.46
1.22
1.42

1.40

Total: 9.28 kcal/mol

Hybrids

s(61.23%) p(38.77%)

$(0.02%) p(99.98%)

5(0.12%) p(99.88%)

S59



(1

2

)

“)

)

(6)

(7

@®)

)

(10)

(11)

(12)

9. References

Padwa, A.; Fryxell, G. E.; Zhi, L. J. Am. Chem. Soc. 1990, 112, 3100.

Ueda, K.; Ibata, T.; Takebayashi, M. Bull. Chem. Soc. Jpn. 1972, 45, 2779.

Padwa, A.; Chinn, R. L.; Hornbuckle, S. F.; Zhang, Z. J. J. Org. Chem. 1991, 56, 3271.

Molchanov, A. P.; Diev, V. V.; Kopf, J.; Kostikov, R. R. Zh. Org. Khim. 2005, 41, 205; Russ. J.

Org. Chem. (Engl. Transl.) 2005, 41, 194.

Longone, D. T.; Stehouwer, D. M. Tetrahedron Lett. 1970, 11, 1017.

Fiato, R. A.; Williams, J. B.; Battiste, M. A. Synthesis 1974, 273.

(a) Padwa, A.; Blacklook, T. J.; Getman, D.; Hatanaka, N.; Loza, R. J. J. Org. Chem. 1978, 43,
1481. (b) Hughes, R. P.; Trujillo, H. A.; Egan, J. W.; Rheingold, A. L. J. Am. Chem. Soc. 2000,

122,2261.

Breslow, R.; Chang, H. W. J. Am. Chem. Soc. 1961, 83, 2367.

(a) Breslow, R.; Winter, R.; Battiste, M. J. Org. Chem. 1959, 24, 415. (b) D’yakonov, 1. A.;

Komendantov, M. 1.; Gohmanova, 1. Zh. Obshch. Khim. 1959, 29, 3848.

White, E. H.; Winter, R. E. K.; Graeve, R.; Zirngibl, U.; Friend, E. W.; Maskill, H.; Mende, U.;

Kreiling, G.; Reisenauer, H. P.; Maier, G. Chem. Ber. 1981, 114, 3906.

(a) Binger, P. Synthesis 1974, 190. (b) Al Dulayyami, J. R.; Baird, M. S.; Bolesov, 1. G.;

Nizovtsev, A. V.; Tverezovsky, V. V. J. Chem. Soc., Perkin Trans. 2 2000, 1603. (c) Bovin, N.

V.; Surmina, L. S.; Yakushkina, N. L.; Bolesov, 1. G. Zh. Org. Khim. 1977, 13, 1888; J. Org.

Chem. USSR (Engl. Transl.) 1977, 13, 1749. (d) Rubin, M.; Gevorgyan, V. Synthesis 2004, 796.

(a) Latypova, M. M.; Katerinich, L. B.; Baranova, I. N.; Plemenkov, V. V.; Bolesov, 1. G. Zh.

Org. Chem. 1982, 18, 2552; J. Org. Chem. USSR (Engl. Transl), 1982, 18, 2253. (b) Kudrevich,

S60



S. V.; Rubin, M. A.; Tarabaeva, O. G.; Surmina, L. S.; Baird, M. S.; Bolesov, I. G. Zh. Org.

Chem. 1994, 30, 945; Russ. J. Org. Chem. (Engl. Transl.) 1994, 30, 1008.

(13) (a) Hansch, C.; Leo, A.; Taft, R. W. Chem. Rev. 1991, 91, 165. (b) Taft, R. W.; Topsom, R. D.

Prog. Phys. Org. Chem. 1987, 16, 1.

(14) Visualization of all MOs have been carried out with the aim of ChemCraft program:

www.chemcraftprog.com

(15) (a) Houk, K. N.; Rondan, N. G.; Santiago, C.; Gallo, C. J.; Gandour, R. W.; Griffin, G. W. J. Am.
Chem. Soc. 1980, 105, 1504. (b) Weingarten, M. D.; Prein, M.; Price, A. T.; Snyder, J. P.;

Padwa, A. J. Org. Chem. 1997, 62, 2001.

(16) Schmidt, M. W.; Baldridge, K. K.; Boatz, J. A.; Elbert, S. T.; Gordon, M. S.; Jensen, J. H.;
Koseki, S.; Matsunaga, N.; Nguyen, K. A.; Su, S. J.; Windus, T. L., together with Dupuis, M.;
Montgomery, J. A. J. Comput. Chem. 1993, 14, 1347. PC GAMESS (version 6.4) running under

Windows NT: http://classic.chem.msu.su/gran/gamess/index.html.

S61




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


